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� 012� ��3�4� �-�. /
 ������ ��5�!+ 67�8� 
 ' �)*+,� /
� �9�:+ �3�4���3�4�� 012� ��3�4�01� ;<=�>?  

@(   67�8�� A�� �)*+,� /
 BC��� D
�	��� �� ��E����� 1�F�+�
 GHI�-� ��=��&� %-!�
 �9�:+ ������ ��5�!+ ��J�
<��I	�� K��L,� MN O3 ���H83� P�)	�7�� �5�Q�3� �8�5�  

R (  GHI��� ����
1��C ��E����� 1�F�+�
 � =�IQ� ' ������� =��,� K��S, �
�T�7�� "��7,� �9F��"<  
�  (  V W�H!��� ' �
1��C GHI��� WX��L ���Y�	�� =�Z� MN ' ��[��� \�]� MN ^-  

�����  

1   W_-�� ' 0��	�� �
�`��� ��&��� ' ME�����
 GHI��� =��&� M)	��
 ��
1 1�F�+�� a1��E �
�8� M&� O3 
 b�:� ������ �IV 01,� c!7 ^-V ��!d� /
 ME����� ��
��e a������GHz 0,7f�H
�8� .  

  
  
  

 �����1  

1  ���	�  

�8� �
�
��1 ��3�4 /-`F�� �-�. /
� �
�
����� ��3�4� �-�. /
 f�
1��C �������� O3 ��5�!+ a�V 67�8� cHh� 
�-Q�)�3�
�
����� �������� ��L "�#�$� %H�
 i�j�  .��)>��01� �)*+,�� 012� �)*+,� /
 k0�3 D
�	�  ; =�>?
���I	��O3 �
 � ���8	3 �5�
 �GHI��� O3 OJ)���  ���H83 Rj�]� GHI� ��=��&� �!7��
 �)*+,� /
 �)�? ME����� ���)�#�
 �

�l WQ�
 �8�5� �m� nHQ �5 ��J� ��I	�� K��L,� MN O3.  

____________________ 

*   ����� ����	
 ��(RAINSCAT) 

 ���	�������� ��� � ������� ������ ��!�	" #�� $%�� &'( )��� *�+ITU-R �,�- &'( 
 ����./�� ��0 1�
 � 2����3����3�	�� �4�5�6� . 
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� ��!o� ��!d� pqS /
� �01,� c!7 ^-V ��!o /
 ME����� ��[�3 O3 ��H�N�� a�V� \�]� a�V �&�� �� OJr
 ���# MN %-!��� �=�>:�� 'GHI�-� WX��L ��&� ���e� pqS O3 . MN�F3 ��V�)s 6S� t�#� W_-�� �qS u�	
�

 A�� ���e� �� �ME�����M)�v01,� c!7 ^-V w8� �
�`��� ��&���
 �
�
��1 ��!o /
 ME��� P��# �9�? .  
��J
� /
 �������� t�3 ' M`F� �
�
��1 ��!d f�H7�I3 GHI��� =��&� GHz 0,7H
�8� � f�GHz 50 . �X��E x� �H�I��
�

 y# z��� ������ ' �l b�Q�3 �8
�!�� pqS {�	� �!7���� ��7�7,� P�71|�GHz 0,1 . Rj�] {�} Y �i�j w3�
 OV M8� ������ �IV O3~�� O3 �>:�I3 �
��3 %�+ ' ���� �� �q�� t���
 1�F�+��GHz 0,7f�H
�8� .  

C� �V�)s �8
�!�� M)F���9*� �� OJr A�� �3��� ME����� 1�F�+� ����� MN ��!`� O)>� A�� 1�F�+�� Rj�] O3 ��?� .
 ��?����
�!�� ��X��E� �
�
����� �
��� ��h1,�
 �8-	��� [��� �X��E M�-_�
 �h�E WX��L "�8��O3 OJ� BS� GHI��� 

 ���# �
� 'w8
 ME����� [�3 �9�? ' f��-)V  W�H!� P�s�	�� =��&|� t�	�� � �?��3 y# km 10 000.  

2  
����
� ������ ���
�  

 ��
����� ������� ��I��
 �
��:�� �9���� W-	�� 1�F�+�� ����� O3 �V�)s {V �
�`��� ��&��� ' ME����� �9*
 �� OJr
 n5��� O3 �
���� �H�I��
�[��� ��?����
�!
� �?����
� ��I	�� .' OJr������ a�V �� a�#�� ���� �9*� �� n5� ��  .��J�� 

������� BS ME����� 1�F�+� ����� 6S�:  
;  ��	�� �� 
)  MJF��(1 : \��F�� ' ��H�� �E ' P�71� [�3 �&�
 �3�IV ME���-� 1�F�+� ���# ��
� ��J�

 �
��	�� �
���)f�	? �-���� ��� ��� .( �� OJr f��?�C� f���8	� �� [� [��� ^-V R��	+�� %H�
 �3�IV �9*

a��V �	5���� �
���� f��-5 b�:
 a1��|� �
�7 ' f��
�~� BV�:�� . f�~
~	� ��1��|� ��
�7 f�H��� $~	� �� f�>
� OJr

 ��[��� ��5� ^-V ��V �3 f�[HN) O3 P�L,� ��[��� ^-V ���km 5f�H
�8� ( �n5��� O3 a[�5 ����:�� �
�
 i�j��� ��	� ��[Q�� %H�J� OV ���I�� [�H���� ��[� �
��� ��8H!�� �) MJF�� �*+�(2.  

;  �������)  MJF��(1 : ��
�7 ��&� �)-N ��
��	�� \��F�� '� ��H�� �E =�1� R��	+�� ��[Q�� f�3�)V ����
����� ��1��� .j M&,� [�5 j�qF�� ��JF3 �9�? ��J� � A�� ��3�4� ' �3� �?��N a��V W-	�� ����� ��

R��	+�� Rj�] �l ��� �� OJr A�� �5���
 �98�8� OJr A�� �)*+,� . ^-V f�1��5 R��	+��
 GHI��� ��J
 �� %��
 �)*�I�� [� 01,�� ����~	�� WX��	��� ��)*�I�� 01,� ���# ��!`�)��I
 �
.(  

;  ������!�
�� ��"
���)  MJF��(1 :�	� ME��� �
�7 ����� pqS K"��:-4�" P�L� ��[�� ) �� O3 P�L�100 x� 
km 150f��3 � (f��& f�:�	C R��	+�� P�s cH�
 ��# .OJ�� ��!o �	� A�� �h�4� ���e� �	
 =�I��7�
� 

 a1�8�� ����V ME���-� ��HH�3 �� �7��# ��C1�)f��3 1���1 �)*+�(�� {V ME����� �
�7 ��J� � 1���+
 f��& �>:�I3 �[:7�
������ ������� ��j ��J� .  

;  #$%�� &'� ���(� )*�+�)  MJF��(2 :6S� �S� ���� � ��-#���� WL�I�� '� =��� b�? M&,� [�5 ME���-
 ^-V ��1��|� O3 �	:��3 ��
�7 %H�
 �� OJr� �!�HI�� ����3� a[HN ��?��3) O3 ��N�km 500 b�? 

�_H��.( �
�7 ��I�	3 K��� ' ���1��|� pqS $��T�� �� OJr� "�e� =�>:��"��?�J�� .  
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 MJF��1  
�	
� ����
 �������� ������ �����  

;   ,�+������%+���!-����.� -/�0� 1�2	$�� &'� )  MJF��(2 :� ��J	+�� ���	3 B��J�/��8HL O3 1��J+�� �� 
����� w>
 x� M�� ��V�:�1� �IV pqS �, a[HN ���� 1��3,� O3  a1��E �9&��� ��1���� c)�� ������

�9&��3 01,� ^-V R��	+������G3 [��� �7�IS �9�? ��J� K��� ' f��& ���	?  . ��J
 �� OJr f�>
� �IS�
 f��& �-
�L ��?��3 ^-V f�[HN [Q����) x� M��250  ; (km 300.  

;  ��0� 3�.�� ��"
���) �� MJF(2 :O3 f�I3�N f�1��3 ���� =���
 1���+�� MJF
 �� OJr1���3  /
 ME����� 
 ��h��� ��7�3012� �+, ��C1,� ��!d�� f�H
�8� ��S���� MN ' M)	
 �5 [�3 R1�E �QG
 �5 � O3� 

���3 ' ME�����t^)*	�� a�X����  .�& �>:�I3 ME����� �HH�3 ��1��|� ��
�7 �� [� �-JF3 a��V M�� �� f�
 ��j����.  

 ME�����
 GHI��� ' ��7�7� �-JF3 ��)�[:7�
����� 1�F�+��
 GHI��� ��=��&� MJ� �N��F3 M	:��
 BS�( �
�	h BS� �
 ' �� ��I3~�� �
���� %�I�� O3� ��?���� O3 f�	7�� t�3 B!`� A�� ��-)	�� WX��!�� O3 �8��3 a�#�3 �V�)s [?��

K��� [`�� �3�IV t�E� ���� w3 ������ t�#� �I)�S ���X��#� �f���1�� ��9�? �3�I� A�� B-	:�� ���  ��h1,� \���
� �
���/[��� �� .����8�+�� WL�I�� pqS ' �h�E �OJr� O3 ��-N �
��3 �H�+ M&� O3 ��I�	3 �
�7 a1��|� qE�� �� �

 �-�. ' %�I�� pqS ��)s M�� �n5��������� . �)	�� �� �=��&|� �qS ' 1���E�� ��N� ��
��
 GHI��� M�? �8
�!��
�9�? OJr �-#�3 x� Mh���� /# x� �1�F�+�� ����� �-�. x� �H�I��
 ME�����[�)-� ���� GHI� ' 6�8�� pqS 6C . �I��
� 

1�F�+�� ����� �-�. /
 �3 w)� ��I8� x� ���|� GHI��� �qS O)>�� �h  ?�J�� ��H�� �E Rj�] ' a1��|� ~
~	� P�
n5��� O3 �
���� �H�I�� �� [��� �?��3 n+�N �)93 �OJ¡ �# ^�5� x� ��*I��.  
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0452-02

 �� ����� �	

��
��� ������ ���
�

����� �����

/���
�!������!� "
 #
$���� #��%� ��&�'��

 ��%� (���) ��*��!�

�����2

����� (���� 	
�) ���
��� ������ ����� �

  

3  ����� ��� � �	�
���� 
�����  

1.3  ���� �����	��  

� ����¢
 W-	�� 1�F�+� Rj�] ��£ =��&|� M)	��
 a�8:�� ' �?�h��� '���� ��� ' 1�F�+�2p�V�  .BS Rj�)I�� pqS�:  
;  ����� ��) [�H���� a��	��� ��[��� ��[Q�� %H�
 ��1��|� ��~
~	� i�j ' ��(<  
;  ���	
��) ��V�? ��[�3 ��&� ���#� �)*�I�� [� ��C1,� ¤
1�>���� �)*�I�� 01,� M)F
�(<  
;  ���� 
���
���������<  
;  ����� 
���
��) ��J	+��� �1��� �¥�J�/ 1��J+����8H!�� '(<  
;   ����
�� ��� ��������!��	�� "# $%�&' ) ��&� ��.(  

 @�-!�� GHI��� [?�� K�l [�)-� ¦+��� �9*�� M�-� p��v �)N [��� �)I� f�8?� Rj�] a�V �� Rj�)I�� pqS �#� WH!
�
|� a1��§��7�7,� P�71.  

2.3  
��	�� 
��	��  

1.2.3  ����� ���	�� ��� !��  

BS GHI��� W�8_�� �3$��� ���!4�:  
 (�)*�1 :+�,�� -�.)	#  

 P���� 0�	
1=��&�� �3$��� ��7�7,� ME��� ���!	3  . ���!	�� pqS O3 �
�-!�� t�E,� ��3�-	�� MN W�F��
=��&|� q�:I� =�IQ� ' ��7�7,�.  



 �������ITU-R  P.452-12  

 

5

��� P�1  
��"�"
� ����� ����#$  

������ ������ �	
��
�� ����� 

f   0,01  ������(GHz)  

p   0,001  ���	��)
�	�� �� (
	�� ��� � ��� ����� �� ������� ��������
�!"� #!
�$ %�
& 
'
*�����+� �,�
� 

ϕt � ϕr   0,001  ��+� -�. /$)0
1!�( 

ψt � ψr   0,001 2 /$ ��+� ��)0
1!�( 

htg � hrg 1 -!*� ���� 3�4 56��7� 89�� :
;<!� (m) 

hts � hrs 1  �=��� >���� /���� 3�4 56��7� 89�� :
;<!�(m)  

Gt � Gr   0,1   ?@AB�� #�6�C�� D E$�C��� F�� ��2 ?�. G4*� H
&� D 56��7� 
�9(dBi)  

�� ����1 ���� ������ 0
�+� E1� �� E$�C��� �I�B�� 0
�+�� E$�C:  
  t :E$�C��� ����� ��K  
 r :E$�C��� �I�B� ��K 

 (�)*�2:/��0� �1�2� 3�4��� �/ $)���# $4�� 3�4��� 5� 6�7�
��   

 ��V�I�� K��S, f�8?� ��7,� �9F-� GHI��� �� �
�I��� ��GHI��� /
 1���E�� a��V ��_�
)������� =��,� �� (� "�*I-� ��
����
ME����� [�3 P�H8�7� K�L �IV ME���-� 0�	�� . ME����� ��N ��� f�H��� �
�8� %&��
 �8? /S���� x� �H�I��
 �-JF3

�
�� K�l ��V�I��
 �h�4� K��S,� pqS O3 /�V�)sp���  P�71� a1��E z�� �9�-V ¨H� �� B`HI
 A�� ��7,� ���e� 
�l c)�
 .�S� OV {	
� �
���� �H�I��
 ����e� %-�� ' ���V�I�� K�"�9� �," ���!	3 M)	��� �� �S�IV %�� �

��7,� �9F��.  
� 1�F�+��
 GHI��� Rj�] �HI�� pqS��7�7,� P�71|� a1��4 ��I��� w
$����
 . �!7��3 �I�� GHI��� =��&� ' a���H3 M)	����

 n5��� O3 �
���� %�I��p ' 6�
 � A�� ��7�7,� P�71|� a1��E O3 �h�E 6�5 $��� �9X�IQ� . �9F��
 GHI��� ���# ' �3�
 ��
�I��� ��?�J�� �
���� %�I�� %�� �� %T�? �7���� ��7,�p ��7,� �9F-� �
���� �H�I-� �pw 0�V �E M&� O3 

 [��� ���I3 �!8+ϕ������� �`���� �!7��
 :  

  %10
078.0816.0

444.0186.0)log()log(









ω+
−ω−+

=
Lw Gp

p (1) 

#��:  
    ω:  O3 =~�� =��� b�? w5���� [��� ) P���� �*+�(3.  

  

 

 

45for 2cos1.1

45for 2cos1.1

7.0

7.0









°>ϕϕ−

°≤ϕϕ+
=LG

 (1a) 

 �3,� ^>�5� �j�� �)�5 ��� �� %�p  ��J� ��� 12  p ≤pw  .  
�
�&� 
 0�	�� �E �� a1��|�ϕ) ��&1� (��C1,� a�J�� O3 ��)F�� ��I�� ' f�H&�3 �+�
 0��:
.  

��I�� �S�IV M��� n5��� O3 �
���� �H�I�� =�IQ� ��7�7,� P�71|� a1��E �
��d� �T%pw��7,� �9F-� �
�-!�� .  
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 (�)*�3:$8�89���� $8�:� 9�;
0� -�.)	#   

 �-�. �IV aj�F��� ��:-4� 1�F�+�� \��� [`� �h�� �
�
����� �
��� ��h1,� O3 ��)-	3 ©�Q GHI��� =��&� M)	��

� ' w5����Y�	�.  

;  ∆N) a�#�;km/N ( �?�
 �q�� ��� O3 z�,� ��3�-�J�� ' ��
����� 1��J+�� M���� ���:��� P�	3 �7��3 �S
 R��	+��� [�)-� ¦+��� �9*�� M�-_�� %7�I�� P�	:�� 01,� �!5 ��+ @��# ���E O3 OJr A�� ���!	��

WX��	��
 . ��JF�� /H
�11� 12 ������� ^-V �E�!
� 6�8� ����V ∆N� ��!7���� �
�I��� , ����V �!
�E ^�5
��7,� �9F��
 ��GHI��� ' �!7���� �
�9F�� 6�8�� .1�F
� �� x� ∆N�H&�3 ��)N =��&|� �qS ' M�� .  

;  (%) β0O3 x�,� ��3 �X��� '� �9X�IQ� ' w5��
 A�� n5��� O3 �
���� �H�I�� �O3 �>:�I�� �8H!��  ��� $��T�� �� �
 1��J+�� M���� ���:��� ���	3N 100;a�#�/km . f�3�� j�F�� 1�F�+�� ¦�I�� ��1��� x� a1���� M)	����

��I	�� 0�	�� �E �8!I3 ' . �)�5�β0[��� ���I3 0�V �E W?��� A�� BS �93����7� /	�
 A�� .  
;  N0) a�#�;(NV �
1��J+�� BS �_H�� c!7 ^- �	��� ���8)N �[:7�
����� 1���+�� Rj�] ' �8? M)

w5�)-� f�8?� �[:7�
����� 1���+�� ����� ' ��[`�-� . MJF�� 0�	
�13 6�5 N0�
�I���  . @��# ��N ���
 �
�I��� 6�8�� �S��� [�)-� �7�IS ^-V f��IH3 1���+�� [�3∆N�&�# �? ���7,� �9F�� 6�5 �� f�>
�  6�8� N0 


 �h�E��7,� �9F�� . 6�5 M
�8��∆N� N0-V 6�8�� �_�_��� �4� O3 �8�F�� [��� ���I3 ^
!��H7�I�� .  
 j�F�� 1�F�+�� B!8I�� ��1��� ��v(%) β0������� �`���� �!7��
 [��� ���I3 �IV �:  

  







°>ϕµµ
°≤ϕµµ=β

+ϕ−

70for %17.4

70for %10

41

41

67.1015.0

0 (2) 

��#:  
  ϕ:   [��� ���I3 0�V �E)��&1�(.  

 �)-	�� W-	���µ1 {�� b�? [��� �H�I
 )� ��-E���� BC�1,� '/��-#���� �� (������� �`���� �9�!	�� �=��� b�? [����:  

  

( )[ ]
2.0

5
354.0496.06.616

1 1010

















+=µ τ+−τ−
−

tm
d

 (3) 

 ��#���8� �)�5 µ1 ^-Vµ1  ≥  1�  
��J��:  

  

( )





 −=τ ××− − 41.24
1012.4

e1 lmd
 (3a) 

��#:  
  dtm:  �)��3 ��
 =~& P�L�)M#���� ^-V� ME���� ' (3 O3 ^)*	�� a�X���� [�(km)  
  dlm:  ^)*	�� a�X���� [�3 O3 BC�1,� ME�� �)��3 ��
 =~& P�L�(km).  

�ª�	
 P���� K2 b�8��� ���)	�7� %� A�� �
�
����� ��E�I�� WL�I3 dtm � dlm.  

  

( )







°>ϕ
°≤ϕ=µ

µ

µϕ+−

70for 10

70for 10

1

1

log3.0

log0176.0935.0

4 (4) 
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 P����2  
����	�
�� ��
���� �����  

������ �� 	
��
� 
��
��� 

������ ���	
 A1 

 ���
�� �� ����� ������ ������ �� ������!�� "��	#� �� �����$�� ������m 100 ��$	��% 
 �&�$' �()* �+	,� �-�#� �� ����� ./0$
 1�/0
 23km 50 4,5� ��6�7 ���	
 8�9� 4
 

 �� ���6��
 �:�9 ;�:<0��ft 300 "�<0
 ���9( =���<
 �&/0
 > �?3  ���
��%m 100. 
�6�% ���A�( ���	
 A2 

 �&�<#� B��/!��� �����$�� "��	#� CD ������ EF"�����$�� ������%"HIJ� . 
�6�7 ���	
 B  -�#� 4
 �C�,�� .�A�� =���$#�� =���K�� ������) �M��9 ��N�( ��O
 P�� ��km 100 �

E9�� Q�J( 
  

��� ����� �	 
��
�� ������������  

 �#���� K�	�"a[HJ��" �8!I�� O)C w8� �S1�H�V�
 ��-E���� p���� O3 B�9�#��3 ��J� �8!I3 �m�
  :2
km 7 800   ^-V

1�m,� �8!I3 ����� �9IJ� �M5,� . pqS �#��3 @��# ' p��3 WL�I3 �m� ^-V p���� O3 ��#���� pqS ME�� 1~�� R1���
� �9V�:�1� ��N �j� �8!I�� O3 M5m 100 O3 ��N� ^-V �7���� p���� t���3 b�? %90�9�#��3 O3  . �I�� �� %��

p���� �#��3 @��# ' �
�
 WL�I)N ¤�
�8�� pqS W
�!� � A�� 1~��.  

��
�� ������ ����� ������ �� �������� ������� ����	  

 w7�,� ��-E���� WL�I�� ��1��|� {�	�2
km 7 800A���  �	
�� �m�
 1�m,� O3 �JH� ^-V �� a[`h ��[� a�V ^-V ���� 

 �8!I)-�A1 "��-#����" O3 ��N� ^-V �8!I�� ���#� �j� �%50 p���� O3  O3 ��N� n+�N�%90 O3 z�� x� 01,� O3  

m 100t����� b�? =�)-� �7���� .  
���� ��E�I�� WL�I�� ¤H� ���
 ��� �� f��& %	��� O3� �8!I)-� �	
A1 ��[_H��� �	7���� ��-E���� p���� ��#��3� 

�	7���� �HL��� �
{�� WL�I��� a[HJ�� ��-E���� .t�� MT�� �� ��1��|� O3 %-!
 �q��' �
�
����� ������� %�J3  
�:�� pqS t�#| �	
�� �S1�H�V� ' %��� A��� ��IL��� �S���# ME�� �	5���� WL�I�� ������� . ��3�-	3 @��� ' �3�

�:��. �-T�3i�q�  ��E�I�� �8!I)-� �	
�� �
{�� WL�I�� MN {�	� K��? A2.  
x� f��	7���1��|� /
 �)�? �X��I-� b���� ^�5� /3�� a�F
 ^h�
  Y�	�� �!
�E x� =��&|� �qS ' ��
��e� �I��� �� 

�I)5���(IDWM)  OV a1����� �����Jr A���  �
�
����� ������� %�J3 O3 �9�-V P��e� O� ' �H7�I3 BS� ����
�~N��� @�7�e�� B��F�� @�7�e� A��H�.  

������ !"#� �$% &'(  

 P�	:�� 01,� �!5 ��+ M3�V �7��3 ��vk50������� �`���� �!7��
 [��� x� �H�I��
 :  

  

N
k

∆
=

±157

157

50 (5) 

 �IC��?� �j�� ��+ 012� B8�8e� �!8�� ��«-H
 km 6 371�qX�IV  01,� �!5 ��I� �!7���� �)�8�� ��� �� OJr 
 P�	:��ae������� �`���� �!7��
 :  

    ae  =  6 371  ·  k50               km  (6)  
 
)$*�4:��+�� ,(�-� �./�� 0��1   

 ��j ��)-	�� O3 ��	
 �h�4� 6�8�� �-���� �� %� P���� �9��� [F
 �)N ��
��e� =��&| �
1��>��� [���
 �5�	��
3 �)�5 ^-V �H3 [�)-� ¦+��� �9*)-� ��� M�-� �!7��
 ae ����	�� �S��� �)N (6) . "�8
�M�
q��� 2 P�# ��3�-	3 
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�-�-�� �X�I
� [�)-� ¦+��� �9*�� b�8��� .� �qS ^-V ¦+��� �9*�� M�-� �	
��_I�  O3 a�#�� ' [��� f�>
� �I�

 P���� ' �9��� 1�F�� ©���� ��7�I�� ���:��4.  

#� �S�I1 T ��U/0�� VW
 ITU-R P.526 =�%�$X �
YI��� Z[�\� �+S#�% �9I<�� =�? .�A�� =�:�<#�% �U�]� ^���� )6)_ ��6�� 
 `��<[a�b�)6)_.  

 
)$*�5:"�23(4� ��5��6 7���   

 P���� P�
4��[��� \�]� O3 �] MJ� �H7�I�� 1�F�+�� Rj�] ^-V  . ����	�� P���� ' �9��� 1�F�� ���8:�� B!	��
�:-���� 1�F�+�� ����¢
 GHI�-� �3$��� .�
1� �j������ GHI� =�I
 O3 �
 �? � �
��:�� 1�F�+�� ����� ��GHI��� %�� ��  ��

�� �_I�� ^-V w)� ' /H a�8:��7.4. ��H�� �E Rj�] O3 MN O3 �h�IV P�)	�7� ��	
 W?,� {V ��[��� ���# '� 
w)�� ��-)V ' R��	+�� Rj�]�.O3~�� O3 �
�-!�� �
���� %�I�� O3 MJ� ��-)	�� pqS W8_�� ���# GHI��� M)�J
� . �
�&� 

 ����	�� �� �*#���
(8c)
 `�
1 �`�h BS w)�� 0� ��!] �?�C� n���� ��&�:�� M��� ��[`� ���:� x� B3�� �&�~¡ ��C
��X�
�9J�� ��1�8-�.  

  

 P����3  
����� ����� 
���� ���� �� ���!�� ����"�� #�$  

���� �� ������ ���
� 

"&�� cJ d Q:S<�� ��N�)�� C$
 �&�$
 (km) 

"&�� cJ  dlt، dlr   ��N�/M d% �&�$#� �:e E%��#� "&��� ;���0�a�� ;���f�(km)  

"&�� cJ θt، θr   ;���0�a�� ;���f� )	J "&�� ���
�� �06��Y(mrad) 

"&�� cJ θ  C$:�� �6��g�� �&�$#�(mrad) 

h�i�� EF hts، hrs   ����� 1�/0#� ./0$#� j/& �N�/e� gF�
 ���
��(m) 

"&�� cJ hte، hre   ���
�a� k��� j/& �N�/+�� ;�<���(m))  E�6l0�� m V6�<0�� �S[�(2 

h�i�� EF (1)db   -�#� j/& C$#� -�gn� o:�� ;/���(km) 

h�i�� EF (1)ω -gn-�#� j/& ��,�� C$#� : 

 ω = db /d (7) 

 q��d Q:S<�� ��N�)�� �&�$
 �M (km) �%/$K� m ��(�<#� (37). 

� =�C$#� En� 4
�+�
�,% �6c�:   ω  = 0 

"&�� cJ (1)dct  �&�$#� k��� j/& ;��� s���#� d%)EA�)0�� �)W
 ( EA�)0�� C$
 ;/� Q�J E��$���
 Q:S<�� ��N�)�� m(km) . �:�9 t/,
 �6�7 �W	
 �� �	��� u
 Q�J s���
 ���� mdct 

��W�� �6��$
.  

"&�� cJ (1)dcr  ��:�� ��%��#� �&�$#� ��[�v�� �)EA�)0�� ���<#� ((km) 

(1) ���� ��� ���	
 ��
 �
 ��	 ����� ���� ����
 ��� ������ ������� !"#.  

   ���$ % �&'&(�� )'���dct� dcr ��*� %+ ,-�/ �0+ dct� dcr ≥ km 5 . 1 �
 23��4� 5�6+ 1 ������� ,-�/ �0+ ��
��*'3�/7�8�� ��9�: 
 ;
km 5 �� "9��
 <=>� ������ ?@km 5 < d .23����� 2$�A B(@� =���$ C+ BD��3�� ����� ;� B'�E F�
 %+ GE���� 1 H�3I %�. 
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 �����4  

 �
�%��� ����� &��'()*�!��+� ,-�.�/��0��   

������� �	
��
� ������� 

E	6�& ���	
 w�$&3 o
 �W��� 1A2���   �W��� 1A) ������(2.4  

$]� "N�/<�� 4
 �J/:x 4
 ���) ������5.4�n���� b��&� �( 

 Cyz
 ;/A( �� �J�& C$
 Q�J `��<[� o
 �W��� 1A
2��� E	6�& ���	
 m ������ {6��|0�� 

 �W��� 1A) ������(2.4  

 `��<[a�) ������(3.4  

 "N�/<�� 4
 �J/:x 4
 ���$]�) ������3.4�n���� b��&� �( 

"&�� cJ �<[a� `�) ������3.4 En� 4
 (km 200 ≥ d  

}/,
����� t/ ������ Q�J ��,<[a�) ������5.4(  

 �C��/%��0�� ��v0[a�) ������(4.4  

 "N�/<�� 4
 �J/:x 4
 ���$]�) ������5.4�n���� b��&� �( 
  

 �����5  

����12� ��34���� 5���6� �7�
�  

��
� �� �	
��
� ������� 

�W��� 1A W�"N�/<�� 4
 �J/:x 4
 ���$]�� �W��� 1A �n?/i �+��<6 P�� �N�$]� o� ;IA 4
 ��	0�� Q�J E: 
 Lb (p) = Lb0

 

(p) + Aht + Ahr               dB (8a) 

q��: 
Lb0

 

(p):  �6/�
 ��$[ -�	y� �MY��� ^06 a P�� �<9/0#� ������� ;���f� ���$A%p �+��<6 �9/�� 4
 
� 1A `?/i�W�� 

Aht
 

, Ahr : ���K� "N�/<�� 4
 �J/:x m ���
�a� �$F 23 t�
)N�<�� t�0���	#� t�0�&��f� t�
��$]� 

Q�J `��<[� o
 �W��� 1A  
�J�& C$
 

 `��<[a�� �W��� 1A `?�i �+��<
 P�� �N�$]� o� ;IA 4
 ��	0�� Q�J EW�)�J�& C$
 Q�J (
N�/<�� 4
 �J/:x 4
 ���$]���� �": 

 Lb
 

(p) = Lb0
 

(p) + Lds
 

(p) + Aht + Ahr               dB (8b) 

q��: 
Lds

 

(p):  ��$	� ��	0��%p`��<[a� `?/i m �J�& C$
 Q�J `��<[a� ���$A E
�J �+��<6 �9/�� 4
  

"&�� cJ E���
 �Iy m ���f� ��	0��:  
 ���$]� Q�J EW��6Lba,
 4J ���	�� ��)<#� CD ����� t// ��6���� ;�:<0��% =������ Q�J ��,<[a�

 ������ m �(��/��5.4.  
 ���$]� Q�J EW��6Lbam(p)����� t/,
 4J ���	�� ��)<#� / ��
Y��/]� ;�:<0��% =������ Q�J ��,<[a�

 ������ m1.7.4.  
t/,6� ���f� ��	0��  lN)	J����0�� ��
Y��/]� "���
 ;IA 4
: 

  Lb(p)  −5 log(10−0,2Lbs  +  10−0,2Lbd  +  10−0,2Lba) + Aht  +  Ahr       dB (8c)  
 q��Lbs (p)� Lbd (p) : �M�6/�#� ��$	�� -�	y� �<9/0#� ������� ;���f� �N�$A %p �+��<
 P�� �9/�� 4
 

����� t�/,
� `��<[a�� ��C��/%��0�� ��!0[a� `?�i/J ������� Q�J ��,<[a����/0�� Q�. 
�� ����1  � ����� ��	 
��
 ����� � ��� ) ����� � ������� ������ �!��"� #�$ %&�'(4 (*+ %, -

 ��.!��� /	 ��'!��� 01!&���(8c). 
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4  ����� ��� � ��	
��� 
���  
1.4  ���� �����
��  

�� ���� ��	 
� ���
�
 ������ ��	� ����� ������ ����������� ��!�"� #���$% �&�' ()*�+ ,�-� . ,�-��/� ���� 0�1'

���)"� �23 4.  

2.4   ����� �� � ��	
���)���� ���� �����
�� !�� � �"(  

 (56�67� 8�6,�� �,��9 (5"��"� (:5;"� <=1'Lb0(p) >�� / ?"�  (��@�� (��!"� ��!A� �3B
�C%p DE F�1' ?"�
 GH�"� I% 
�J9 4 ,�-��/�;�"� :  

  Lb0 ( p)  =  92.5  +  20 log f  +  20 log d  +  Es ( p)  +  Ag               dB  (9)  
L5
:  

 Es(p):  M@��"�
 �F�1��� #�M��� #�MAN' O5P;':  
  Es ( p)  =  2.6 (1  –  e– d / 10) log ( p / 50)               dB  (10)  

    Ag:  Q�;�%/� <*$"� RB�:"� (dB):  
  Ag  =  [γo  +  γw(ρ)] d               dB  (11)  

L5
:  

  γo S γw 

(ρ) :  4 #/F�1% I% T*���� S����"� U*	 S���� ,�V
 W�X� �X� Y��Z <	�!"� [3��"�
 (5\��"�ITU-R P.676  

      ρ:  ���� ,�V (&�]^:  
  ρ  =  7.5  +  2.5 ω               g/m3  (11a) 

        ω:  X��_I%  M��� ����� `�& <*$".  

3.4  
��#���  

 ,��$�/� a5"�" #
�)�"� 8�1% 4 #�M5:�"� (b5�� �3 ���1�/� (5"c DE ��d�1"� (ed�)"� �,���*" f%_"� M:�"� gNZ 0��)�
 8�1)"� 0,7� �=H h;� a%�	 ���_' 0��)� i�� R� <*$"� R�X� R��F��"�k(p)!' �j*^  (��@�� (��!"� G;H�pGH�"� I%  .


 (j5�" �/���% ������ �23 k�1�β0 ≤ p ≤ 50% . I	 a�' ?"� GH�"� Y�!" �%�β0 (1l�9 g�$' #�,�m�� #���6 gn& 
�X� 4 ,��$�/� Td�;9 o�jp �q!% �]^� ���-"� ,�-��/� #�5"r . (j5H g�$'
k (p) (j5�" (�
��% k (β0) >5H ("�
 4 p 

"� I	 a�' ?β0.  

���1�/� s��t ������� 8�1)"� 0,7� �=H h;� (j5H (5"��"� (:5;"� <=1'
:  
  a( p)  =  6371  ·  k( p)               km  (12)  

L5
:  
 p:   ������ ��	
 ��50 
�  β0 

 k (50%):  ������� �����
 (5) 

 3 = k (β0). 

'4 �q)\
 F,��"� (���="� ����� (5\��"� ITU-R P.526 ���1�/� DE ��d�1"� (5&�l�� �,��u� s��t Ld (p) �����6� v% 
 v�B�'log RF�1"� [Z �,���*" %50
 β0<*� �j^ :  

w   (j5�"%50 = p Y�x (%50) Ld  (5\��"� 4 �q)\
 F,��"� (���="� �����6�ZITU-R P.526 (j5�"�Z (�*1��� 
 8�1)"� 0,7� �=H h;!" (=6����a (%50)y  
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w   (j5�"p ≤ β0 Y�x Ld (β0)  (5\��"� 4 �q)\
 F,��"� (���="� �����6�ZITU-R P.526 �=H h;� (j5�Z (�*1��� 
8�1)"� 0,7� a  (β0)y  

w   (j5�"� a5;zβ0 < p < 50% Ld (p)(5"��"� (:5;"� (=6��Z >�� :  
  [ ])(%)50()(%)50()(

0
β

ddidd
LLpFLpL −−= (13)  

L5
:  

Fi : � R2"� <*9��"� 8�j$�6/� v�B�' U*	 �j�1log {��� 4 ���1�/� 4 �,���*" RF�1"� β0% < p < 50% 
(5"��"� (:5;"� i5=1' R2"�:  

 Fi  =  I(p/100) / I(β0 

/100) (13a) 

 L5
I(x)<�$1"� <j^���"� RF�1"� v�B��"� ("�F <3  . a5�2�"� <=1�
4 (j5�" ���6�!% ������' I(x) 4 `�A�"� I$| 
 (j5�" i%����6�x < 0,5.  

�� ����1 � ������� ������� ��� ITU-R P.526 
� ��!"#�� $%�� & '() *+ ",-�� /� & $%+ 0�1 2�"�34� 56�%� 7�%) & 
819� ;! $%+ 0�1.  

 (��@% (��� ��!A� �3B
�C >�� / ?"� (56�67� 8�6,�� �,��9 (5"��"� (:5;"� �3�!	 <=1'
%p M�% U*	 GH�"� I% 
/����1�:  

  Lbd ( p) = 92.5 + 20 log f + 20 log d + Ld ( p) + Esd ( p) + Ag                dB (14)  
L5
:  

  Esd (p):  }&7� 4 }d��1"�
 #�5d��~� [Z �F�1��� #�M��� #�MAN' O5P;':  

  ( ) dB
50

log16,2)(
10/)(








−= +− p
epE lrlt dd

sd  (14a) 

  Ag:   Q�;�%/�RB�:"� [�"F�1�� (=6��Z F�x (11)
 (11a).  

4.4   ��������	
� �
�	���) �
	�����1� (2  
�� ����1 � �+ $<�= >�� �?�@+ '%3 �A! �'�,�� �+ %50 �?�3�<�� 6�B�34� "C��D �! ����E� F$#��=
"��� 6�<�34� 7�G�� H,#? I� �

�GJ�K 6�B�3� L�$J	
 M�A
 N�� O"�9� . 2P�Q ;��? R �+
"#��=
"��� 6�<�34�F$" 6�<�34� T��#� U��-?"V U�����
 ������� W�C X�A-
 F��� 
�?�3�<�� 6�B�34� L�$J	
 U�Y?� H�B? F��� F$#��=
"��� . '%3 Z�AJ� & �����9� ���6[� 56�%\ 8%�+ "��%+ ]-A
 Z�"^_= `�P a�%?


 b���� �+ �?�@+p c= d
�"�
 %0,001
 %50e��
 2P�Q H�
 fg `��= F�]

 ��-��� hG! i���34�
 F6�j� IL� �?�@+ '%3 �A! 
 *+ b���� �+ 5$k�"6�<�34� 7�G��"b���� �+ �?�@+ '%3 ;l� Z�AJ� & Wm
�V n�? F��� o��Y�� ��-��� ��(�G� '��A�� ����E� .  

�� �p)q2 �� r��C9� H^� �+ F$#��=
"��� 6�<�34�= ]-A�G� 2P��A�� ��C 0���s� t ���  7�%E U�-��A+ ;��? 4
 H������= ]-A���= ���u
Z�AJ� & 6�B�34� v
"s �+ "<l� %50819� ;! �?�?��"�� Lqw)"�� ��p3� & Z��9�= ���u� '3��x� & "J]
 N��
 b���� �+ .  

 <=1'(:5;"� RM)6�Z
��"� ,�]��/� DE ��d�1"� (56�67� 8�6,�� �,��9 (5"��"� Lbs (p)1%  �q!	 ��k��
�Z (dB) >�� / ?"� 
 GH�"� I% (��@% (��� (�� ��!A� �3B
�CP I% �F� %50:  dB L 

          dB[ ] 7.0
0 )50/(log–1.10–15.0–θ573.0log20190)( pALNdLpL gcfbs +++++= (15)  

L5
:  
  Lf:  FF��"� ("/�Z �,��u�:  

  Lf  =  25 log f  –  2.5  [log ( f / 2)]
2
               dB  (15a) 

 Lc:  ���H/�Z �,��u� a%�t� J6�"�
 (P�)"� [Z g(dB):  

  Lc  =  0.051  ·  e
0.055(Gt  +  Gr)               dB  (15b) 
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 N0:   a$-"� I% }�-' SM��� h;�!% �!	 �P�"� {���% U*	 O=�*" (5	�!"� (�,��$�/�6.  

  Ag:   ("F�1�� I% }�-� RB�:"� Q�;�%/�(11) v% g/m
3
 3 = ρi*%�$Z M��� 8�� U*	 .  

5.4  ��
�� �����/���
� ��� !
�"���#
  

(56�67� 8�6,�� �,��V ��!�"� �!���Lba (p)  (dB)  ��-"� ,�-��/� #���& ��!A� 4 ��z ?"�) ��$1�/�
 R,�p� g�$'
��="� U*	#�((5"��"� ("��"� DE S:  

  Lba ( p)  =  Af  +  Ad ( p)  +  Ag               dB  (16)  
L5
:  

  Af:   (�Z�]"� g���H/� �d��9 o�j�)(5*�� }d��1"� I% (	�j� Y��Z �d��u� ��!]�6�Z ( ,�-��/� (5!Z
 #�5d��~� [Z
�X� a9�F ��-"�.  

  Af  =  102,45  +  20 log f  +  20 log (dlt  +  dlr)  +  Ast  +  Asr  +  Act  +  Acr               dB  (17) 

Ast SAsr :  9 Sa9���*" (l�1�� (=��
 a9���*" (����� (=Pj*" (5l,7� ��,�e�"� Yb
 MAN' DE �d�1"� ���1�/� �',��
����"� U*	:  

  
( )[ ]













≤θ ′′

>θ ′′θ ′′+⋅θ ′′+
=

mrad0fordB

mrad0fordB

0

264.0361.01log20

,

,
3/1

,
2/1

,

,

rt

rtrtlt,lrrt

srst

fdf

A  (18)  

  L5
:  
  mrad1.0–θ

, lt,lrt,rrt d=θ ′′  (18a)  

  Act SAcr :  (=�� a�� I% �P�"� `�& O=�"� U*	 R,�p�Z g���H/� O5P;' ��j5H (l�1�� (=��
 a9���*" (����� 
����"� U*	 Sa9���*":  












+= ))–50(07.0(tanh1e3–

2
0.25–

ts,rs
d

ct,cr hA ct,cr  dB for ω  ≥ 0.75 

(19)        dct,cr ≤ dlt,lr 

         dct,cr ≤ 5 km 

(19a)   0
,

=
crct

A    dB ����� ���	� 
��
  

 �
�-"� I% �F
��� (	�jp� DE �!3 �,�m�� ,�C
 ("F�1�� �q5& g�$' ?"�(19)(�,
�l .  

  Ad (p):  ��-"� ,�-��/� (5"c a9�F (��
�_"� (&����
 GH�"� I% (��@�� (��!"� ("/�Z �d��u�:  
  Ad ( p)  =  γd  ·  θ′  +  A ( p)               dB  (20)  

L5
:  
  γd:  <	�!"� [3��"�:  

  γd  =  5  ×  10 

–5  ae  f 
1/3

               dB/mrad  (21)  
  θ′:   (��
�_"� (&����) (��P*" ���&
 (PP;%) ("F�1�� 8�9 I%((22a) Yb
 MAN' ���� }5�=' (
�'E a�� I% 

 ("F�1�� 4 (5l,7� ��,�e�"�((18):  
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  mrad
10

3

rt

e
a

d θ′+θ′+=θ′  (22) 

  








>

≤
=θ′

mrad1.0θformrad1.0

mrad1.0θformradθ

,

lt,lrt,rlt,lr

lt,lrt,rt,r

rt

dd

d

  (22a)  

  A(p):  "� I% (��@�� (��!"� M:' GH�)<j^���"� v�B��"�:(  

 dB12log)107.32.1(12)( 3

Γ
−










β
+









β
×++−= pp

dpA (23) 

 

( )
( ) 13.16–2 10)(log198.0log8.4–51.9–

012.1
e

βlog–0058.2

076.1 d⋅×β+β×=Γ (23a) 

 β  =  β0  ·  µ2  ·  µ3               % (24) 

  µ2:  M��� (6�!3 DE (��!"�Z O5P;�"�:  

  
( )

α















+
=µ

2

2

2

500

rete
e hh

d

a
  (25)  

   (j5H B
�b�' /� Y�
µ2 ,���%1:  

 τεα ⋅⋅−−= − 1.39
.106.0 d (25a) 

  L5
:  
  3,5 = ε  
  τ:   ("F�1�� 4 (&�1%(3a)  

   (j5H a�' �/� Y�
a  I	3,4–  
  µ3:  (5l,7� ��,�e�"� 4 ��1�"� O5P;':  

 

[ ]







>+×

≤
=µ

m10for)643()10–(106.4–exp

m10for1

5–

3

mim

m

hdh

h

 (26) 

 di  =  min (d  –  dlt  –  dlr,  40)               km (26a) 

 Ag:   �F�z R2"� <*$"� RB�:"� Q�;�%/� g��"F�1��(11)
 (11a).  
F��
 ["
�X� 4 {�97� #�P*=;�� h��1' 1
 2 a5�2�"� 4
 2.  

6.4  ������� �� 	
���
 ���� ���
��� ��
���  

1.6.4  ���� �����	��  

 ��z ?"� (5&�l�� ���1�/� �d��9 I% T*���' g� I$| a9���"� I% (��jt� DE (��!"�Z �M�^ ��d�& (� g� [�' �!	
 0,7� U*	 (5*�� }d��1"� I% #�	�j� a9�F �_^��� #�5d��~�)�E S#��� S�g��% .(.. �23 (&�lnZ ������ �23 Oj��


 (	�j� (5!Z �q5& g�$' ?"� #/�t� 4 [&�="� �!	 
� M��� 4�� I% W�� a^ �!	 }d��1"� #�	�j� �q���' ?"� �d��u�
(&
�1% }d��1"� ./�
 4 �%�(5&�l�� �,��u� �23 �,�' �& (	�jp� �23 (@5Z DE (��!"�Z �-"� #.  

 }d��1"� I% (	�j� Y��Z �,��u� Uj�'(dB) Aht
 (dB) Ahr Sa9���*" (l�1�� (=��
 a9���*" (����� (=�� a�� I% 
����"� U*	 . (=6��Z �q���� F�z
 o�)',/�Z ���5��� (5&�l�� (��jt� }*1�'
 DE (��!"�Z (��5��� o�)',/� Y�^ ("�F

}d��1"� (	�jp <�/� o�)',/� .}d��1"� ���� I% (*�*6 a�� I% (�6�!% (5�� #�	�)',� �&��'
.  
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 (��@�� Y�!"� a^
 ,�-��/� Y5"�6� a^ 4 R� (5\��"� �23 4 �,�^2�� 4�;"� �X� 4 #���!�"� a^ U*	 O5P;�"� }�=�

GH�"� I%.  

2.6.4  �����
� ������ ����  

 8
�X� M-�6}d��1"� #�	�j� #�@& DE ) (5l,7� (5=:�"� 
� ( (5\��"� 4 �q5&�1' F,
 �j*]%ITU-R P.1058 g� I$| ?"� 
Y�^ O5P;' �q5*	 }�=� o�)',/� . }d��1"� (	�jp <�/� o�)',/� >5H k�1'
(m) ha <d��~� DE (��!"�Z (&����
 

(km) dk >5�"� ��NZ "(=6����"}d��1"� (	�j� Jj!" ��5]� �]^7�  . DE ����� #������"� �F� ���� O5P;�"� ���� g� M�
("�
 a$" Y6�!�� <*1)"� o�)',/�Z (�*1��� #�Z�5',/� . I$j5& k^� (H�Z (&
�1% }d��1"� (	�j� #�j*1% G��^ ��E �%�

�"� I% �/�Z ��m��% �q%����6� 8
�X� 4 �F��� >56.  

8
�X� 4 �F,��"� (5�/� #�&����
 #�	�)',/�
6  <���j!"� o�)',/� I% (���H Hc <���j!"� ��b)"� 0�	
 Gc
 

 [&�1��
 (5\��"� 4ITU-R P.1058 . }d��1"� Y��Z Ybt� I	 (��!"� (5&�l�� �d��u� �����" �!3 ������� ���j!"� I$"


)l,7� (5=:�"�(5 (���j	 �)P�%.  

3.6.4  ������� ��� ����  

(5*�� }d��1"� (	�j� I% (��jt� DE ��d�1"� (5&�l�� �,��u� (5"��"� �,��1"� <=1':  

  dB33.0–625.0–6tanh–1e25.10
–











































×=

a

d
h

h

h
A k  (27) 

L5
:  

  dk:   (&����(km) <d��~�
 }d��1"� (	�jp <�/� vH��� [Z ) a$-"� ����(3  

  h:  <d��~� o�)',� (m)(5*�� 0,7� {���% `�&   

  ha:   }d��1"� (	�jp <�/� o�)',/�(m)(5*�� 0,7� {���% `�& .  

 8
�X�6  
�����
� ������ �
!�� �����"�# ��������� 

 ������� ��	�
� �
�)���� ����� ��(   ����� �������ha 

(m) 

 ������ ������dk 

(km) 

������ ���	
� �
�� 

��	�� 

������ �� ������	 ����� ���!� 

 "��#$)���%��	 ������( 
�&���� '*�#� 

 

4 

 

 0,1 

�+���	 ,-. 5  0,07 

 /	
.0	 ��
�1 
�234)5���� �� ���%�( 
 /	
.0	 ��
�1 
�234)5���� ���%�(  

��6�7 
�234 '� �8
�� 9�$�� 

 

15 

 

 0,05 

 �+�$
�: 
�234)���%��	 ������ ��( 
�234 �+�$
�: 
)���%��	 ������( 

20  0,05 

���	
�-	 �$�� 20  0,03 



 �
��	
�ITU-R  P.452-12  

 

15

 �����6 )����(  

 ������� ��	�
� �
�)���� ����� ��(   ����� �������ha 

(m) 

 ������ ������dk 

(km) 

�+�;� <%3 �����  9  0,025 

�+�;� <%3 ���������*  12  0,02 

�+�;� ����� 20  0,02 

+�;� ���������* � 25  0,02 

�����: ����� 20  0,05 

 }d��1"� I% (	�j� (=6��Z Ybt� I	 (C�!"� (5&�l�� �d��u� ,���	/� 4 29�' /� <:�!�)(5l,7� (5=:�"� (=6��Z 
� (
 8
�X� 4 F�' / ?"� #�@)"� DE (��!"�Z6.  

  

 

d s d k

h 

d       ( k m ) L

������� ���	
 ��
� �����

����� ���(km) d 

 (�������) ������
 ���	
 �������

 ��������ds� (km) dk 

 �� ��
� ���!"
�
�#"$� (m) hg  

 ���	
 ��
� ���!"
�
�������� (m) ha  

" ���� &'"�*��� +,�- +./ "

�����3

 ��� ����� 	�
�� �
���  �������Aht �� Ahr 

  
4.6.4  ������� �	
��  

(���� gE o�)',/� 4 Y�$"� O5P;' }5�=' Aht 
� (dB) Ahr a$-"� 4 (!5�% <3 �j^ ��m��% (���� <3 3.  
(5"��"� <3 <6�67� ��!�"� ����E DE �q�&�lE <:�!� ?"� #��=u�
:  

 �����1 : 
� ��&
�1% }d��1"� (	�j� J� g�$� �%�!	g�$' �%�!	���� aj1��� S8�p� �23 4 ��5^� (5l�)"�  4 <�5d�"� ��
 <�/� o�)',/� �
 (56�67� 8�6,�� �,��9 s��
ha 8
�X� 4 �,�5�9� >�� R2"� Y6�!�� }d��1"� (	�j� J� a�� I%
 

6 .M��� 8�� aj1��� g� Y�
 :(km) d - dk .g�$� �%�!	 R���]"� O5P;�"� �23 a3�C I$j�� I% i�� M� :d >> dk.  
 �����2 : �%�!	�&��  }d�	"(5l,7� ��,�e�"� Yb
 MAN'" t� S<6�67� s��t� 4 �"� �,�� g� Y� W��=j*" (��j

 Ybt� Y��Z �,���*" <:�!� i!$"Ast) 
� ((dB) Asr o�)',/� �
 Y�z g� ha (&���� �!	 ds�/�Z  o�)',/� I% h �!	 
 (&����dL{�97� #/�t� 4 >�� �H R2"� .  
 �����3 :1Z SI$| ("F�1j*" ���&
 o�)',/� 4 Y�$"� O5P;' W�e� g� S<�5d�"� ������ 8�j�^� �(27) i5"E M-� �j^ 
 8
�X�5.  
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 �����4 : [�&���� (=6��Z }d��1"� (	�j� 8�
 #�%�*1�� s�5� ("�
 4 <6�67� s��t� >��d
 dL) (��P*" ���&
 (
 o�)',/�
h.  

�� ����1 �������� ��	� 
� �
  ����� ���� ����� ���� ��� � ����!"� ����# $�%�&'� � ��("�  )*+",.  

�� ����2  � -�/ ��0 12� 3�#�4 
��56'� 7����8 -�4 ��0 12� $�%�&'� ��(" 9������ �2:5� ;"� �'��� � <(=8 Acr) 8� 
((dB) Act) �? <(" ��@"� <0 �A�6 B���C� 
� -� <0 ����D ��EF�4 ���G ����!"�( ��IJ 9�!0 
�����5"� K�!5�A 
� 
L0�(50��L508 �
.  

�� ����3 � <(� M �,* 9�@N�F0 O,��F"� �PQ R5!A ' d <0 RS� dkT��20 K(U4 .  

7.4 ����� ���	
�  
 8
�X� [���5;' a^ DE (��!"�Z ����� ��!�"�Z ��5�*" �q	��'� [1�� ?"� #������� M��� J� T� h5! . DE (��!"�Z


 (���% (X�1% (�� DE (��
 / S<	�)"� M�j*" ���1�� v% �;�"� J9 4 
� �;�"� J9 4 ��� U*	 h!;�' ?"� #�M���
8
�X� 4 s�*=�� ������ }5�=' a�H ���� a^ �d��!".  

1.7.4 ���� �� ����� 

�'>�, S}&7� k	 #�M�% ("�
 4 aj1�� g�  8�j1�6� �;�"� J9 �������,
�l �5" S �,��9 �;�"� J9 ����) �&�$��
(���!"� (5
�!"� I% ((�^��� (5*j1"� 4 . s��
 DE ����� ��!�"� �!���
u�R,�p� g�$' (=6��Z �M:��� �,��/ ��$1�/�

#���="� U*	(p)  Lbam��H�=�� S  (5"��"� ("��"� I% a�H("F�1�� }5�='  (8c) 8
�X� 4 �F,��"� 5: 
  jbdabbdamba FpLpLminpLpL ⋅−+= ))()(()()(

0
  (28)  

L5
:  

 





≤⋅−+
>

=
)(    )(for         ))()(()(

)(    )(for                                                            )(
)(

pLpLminFpLminpLpLmin

pLpLminpL
pL

bdbakbabdba

bdbabd

bda (29)  

Lbd(p):   ���1�/� �,��94 �,���� p % GH�"� I% �����6�Z ("F�1�� (14).  
       

Fk :  ,�p� g�$' (=6��Z ,�-��/� I	 (C�!"� �,��u� [Z JZ�� R2"� <*9��"� 8�j$�6/� a%�	R/ ��$1�/�
 ���1�/� (=6��Z �,��u�
 #���="� U*	��1�' "(&��j*.  

 



















 −⋅⋅+−=
sw

sw

k

d

dd
F

)(
0.3tanh0.15.00.1 κ  (30) 

L5
:  
:d  U*	 M��� 8��F���%� Uj�1"� ��d��"� )W�1�� 8
�X� 4 3(  
dsw:   y8����/� #�&��% {�% F�z (�Z�A (j*1%),���� �F�  20(  

κ:   a5% F�z (�Z�A (j*1%s���H/�� �!	  {��� 4�),���� �F�  0,5(  

Lminba (p) :¡�$' (=6��Z ,�-��/� I	 (C�!"� �,���*" ("�1% (j5HR,�p� g/#���="� U*	 ��$1�/�:  

  


















η
+









η
⋅η= )(

exp
)(

expln)( 0 pLpL
pLmin bba

ba  (31) 

L5
:  
  Lba(p):  ¡�$' (=6��Z ,�-��/� I	 (C�!"� �,��u�R,�p� g/ #���="� U*	 ��$1�/�(Z��  ("F�1�� I% (16) 

  Lb0(p):  ���!"� �,��u��' ?"� �;�"� J9 4 M��� U*	 ( ("F�1�� (=6��Z ,��(9) 

    η = 2,5 
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Lminb0(p):   g� I$| ?"� ,�-��/� �,��u �5��"� (���!"� (j5�"��q:*�' g�$' (=6��Z ,�-��/� I	 (C�!"� ("�1�� �,��u� 
R,�p�/#���="� U*	 ��$1�/�. 

  




β≥⋅−−
β<

=
β 005050

00

0 for )(

for  )(
)(

pFLLL

ppL
pLmin

ibbdbd

b

b  (32) 

L5
:  

Lb0β:   �!	 ,��' ?"� �;�"� J9 4 (���!"� �,��u�β0%  ("F�1�� I% GH�"� I%(9): 
 %)( 000 β=β bb LL  (33) 

Lbd50:   �!	 ,��' ?"� ���1�/� �,��9%50 �����6�Z ("F�1�� :(14) 

 %)50(50 bdbd LL =  (34) 

   :Fi <*9��"� 8�j$�6/� a%�	S �!��� R2"�  <j��,���" v�B�' DE– I	 (C�!"� �,���*" RF�	 
   S���1�/�W¡�1��
 ("F�1�� 4 (13a)  

  Fj:  8�j$�6/� a%�	<*9��"� R,�p� g�$' (=6��Z ,�-��/� I	 (C�!"� ("�1�� �,��u� [Z vj� R2"� / ��$1�/�
�;�"� J9 4 (���!"� �,��u�
 #���="� U*	:  

  
















Θ
Θ−θ⋅ξ⋅+−=
)(

0.3tanh0.15.00.1jF  (35) 

L5
:  
  Θ 0,3 = 

  ξ 0,8 = 

  θ :  �� (&��"� (�
�_" 8
�X� 4 �q)��1' F�� ?"� SM�j*7.  

8.4  ������ ����	 
���  

I$� I% #���)"� 4 �q)\
 F�� ?"� (���="� 2.4 DE 7.4  s��
 I% [Z (56�67� 8�6,�� �,��9��[�= . s��t


�
 ���� I% ��
�
 (=  �!	 �,�m�� (��6 4 29N' ?"� S8�6,�� �,��9 (&�1% I% �Z / {�97� (=�� i���' a9��' �

 <d��~� Y�^ ,���	/�� 4 R��F��"� M��� ��C� 4 [�=�)R�a9���"�  (�jq!5Z.  

 [�=  [Z 8�6,�� �,��9 s��t (���� ���"� ������ ����
0,£" .������ �23 ����
 ��e�� (*
�% i)\�Z S=56
( 4 
��:5\ S(���="� �23M�j*" (�
�_"� (&���� s��t
 Uj�1"� ��d��"� 8�� U*	 M��� 8�� s��t F�!�6/�Z  #�5A��
�� DE 

 (5&��:X�#�5j$"� �23 `���m� I% �/�Z [�=Pj*"��H�=�� ���&
 SM�j*" ¤��X� �q��� I%  8
�X� 4 F�' ?"� (5l�)*" 3.  

Y�z
 ?"� (�
�_"�  0,7� _^�% �!	 M��� ("��H v�'δ ��H�=��=Pj*" (5&��:X� #�5A��
�� I% [�(5"��"� (:5;"� (=6��Z :  
 δ = arccos(sin(ϕt) sin(ϕr) + cos(ϕt) cos(ϕr) cos(ψt – ψr))                rad  (36) 

g�$'
 Uj�1"� ��d��"� (&��% d [Z [�=��:  
  d = 6 371 · δ                km  (37) 

Y�z
 Gj�"� (�
�B )(	��"� s,��	 ��C� 4 4��:X� 8�j-"� Y�¥ Gj�"� ��C� ( (=�� I%t (=�� DE r <*� �j^:  
  αtr = arccos({sin(ϕr) – sin(ϕt) cos(δ)}/sin(δ) cos(ϕt))                rad  (38) 

 �,��1"� }5�=' �1Z
(38) G��^ ��E Sψt – ψr > 0  2d�!	:  
  αtr = 2π – ατρ                    rad (39)  


z (=�� I% Gj�"� (�
�B Y�r (=�� DE t��H�=�� (��¦�!' ();Z  [�"F�1�� I% (38)
 (39).  
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�� ������ 	
� �
� ������
� ����� ���� )�����
� ���� ( �����
t  ��
� ��!
� ����"� #��"$%� &���' ��*�+�(εt, αt) ,
�������  �����
 ������
� ����� r  -�
. $�/0� 1�����
� ��*�+�(εr, αr) . ��3 4+���
 ,5$��6
� 7�� #��"$� &���'

 5+�8��
� 9�:�);<���
� 9�� ,�
��� �=> ? ( 1��@� �A3t� r ��*�+� ��B�
. $�/:� ,εpt� εpr , ,C�+�
� ��3 1� �����
�
D� E3 F�9�:�� ��!
� G< F�9��HI .!I��!
� G< F�9�� J. �!�A
��+K" LMN� :  

  rad
2 e

tr
pt

a

d

d

hh −−=ε (40a)  

�  

 rad
2 e

rt
pr

a

d

d

hh −−=ε  (40b)  

 P�Qht� hrL�3��"$� �R  1��@� ��!
� S��
 ��*+�:� ��+�
� T+I km ,��� ��UID� E3 F�9���
 �!�A
��  �����' �+K�I
HID� �����' �R #��"$%�5� ,:  

  rad
1000

t
pt

θ=ε  (41a)  

�  

 rad
1000

r
pr

θ=ε  (41b)  

 J. V$�WX� $�����&���'  5+�8��
� HID� θt  �θr (mrad) ���BY"  4��Z� ? J�D� V���
3�  8�� ? C�+�
� ��3 ��B���
"
 1"�U�
�1.1.5 �3.1.5  ;��=�
� 7�1 
 H����1.  

 [�������' &�����
� G< 73 8�
��%�I  1��@�� H�
�� ���t� r  ��*�+� ��B�
. $�/:�χ t� χ r  �A3 ;<���
� 9�� ���� ?
 1��@�t �r4��
�*�� �\+� ,1�
8�
:� :  

  χ t = arccos(cos(εt) cos(εpt) cos(αtr – αt) + sin(εt) sin(εpt)) (42a) 

�  
  χ r = arccos(cos(εr) cos(εpr) cos(αrt – αr) + sin(εr) sin(εpr)) (42b) 

� 4��
�*��]�^ �����
� G< 73 8�
��%� &���' 1��@� _��+> ]�` t� r ,5� Gt� Gr (dB) . F���a:� bc�` ��.�
 9d _��+e� #�
WX ��U�U��V����� ��3 4+��� 7Kf 
� ]�K
� ? 9g� 7� L�hM�c� �����
� $+i J. �!�A
�� �����
� ]�j

F��+�
:��\+�
� �B��3  �ITU-R S.465.  

 4�*$X� V$��< ��3 4+���
�L ";�
���
8�
:� :  
  L = Lb ( p) – Gt – Gr                dB

 

(43) 

 �+K�*�&���' $�/�c%� ��3 59�*+����
� $�N�c%� 7��B� P�Q ?��
� +Z� ? ;<���
� F�>+�$�A��� H�
�� ���I ,#��"$%� 
 ��3� ,5+�8��
�LM��hD� &���' 7�  ,5+�8��
� HIt θ� r θ . 1"9<D� 1"�e _g!A� %���U���" ��. %. 9!` k�< J. ��8l" �� 

L�6�� �����
� ���� m� ��BA� ;` ��@.  

5  ���� ����� 	�
��
� ������ ��� ��������� ������  

�U" �: L�IM< 5+Z� n�:�� $�N�c%� 73 �o�A
� FM<���
�� l!A�
� �U��p ;�
��" ,?��
� +Z� ? FM<���
�� l!A�
� T�p 7� q
)_�� ���I �B�\� 8�� &
� ( 7� ;` #�
W. G�r �I�
� ����" �sD L��Yc V�W�!� 1��i 1� 4�*$X� V$��t H�
�" F�$�!3

�
:� ��@�� ;<����
 �!!�:� ��@�;<����
 �u.  
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L��v ���3 �U���
� �=>�? �e��
�*� ��K�. P�Q 7�  _��+> #�
W. G�r 5�  �����
 �U��p �I+� ��� �A3 _��+e� ]�`
�����
� $+i 73 w��x� ����' . #�
WX� F���r �I�` 4��
�*� 4�N:� ;�!* ��3 7Kf� 	��` &
�? 8�" F��\+�
�   

ITU-R P.620� ITU-R F.699 �ITU-R F.1245� ITU-R S.465�  ITU-R S.580 F���r J. �!�A
�� 4��� +> ���N� ,
L���U
" �N`� ;��� 4��8 J. �A��" (Bessel)U� ��U�UQ F���r �� ��>���" 4�Q ? ,�� .L�6�� �U���
� �=> 4��
�*� 7Kf� 

?��< 8�" &
� F����+e� ;N� ,��3��h F����+> �� F�>��%� ����W F����+>  ��\+�
� ? �B��ITU-R F.1336 8���� &
�� 
L�hM�c� V8�3 �B!�` 7�  ����'%������
� $+i 73 w��x _UID�)  #��"$%� 5�J. �!�A
����hD� ]�K
� ����' .(  

� ���3 �U���
� �=>P�Q 7� L�6�� . ��3 ���U" % �s 5� �\�< �*�A>y�W �B���g" 5���" _��+> #�
W. F���r ���" 
°180± . 7� LM` ;�/" _BI C��
���������
� ����� ����h� ���g"�  zc�Z� {�
� ����h�� ������
� ������������
� �����, 

7� LM`�*�A> �� ��Y

� V����
� ��3 $�N�c%�  �*�A>zc�Z� $�N�c%� .�=| 7Kf� �!�A
�� ;<���
� F��+* [��Q �U���
� 
 ���+�
� F�9�:� J.)< 100  km ( V9�U
� F�9�:��)F����+��` �
6� }Q ( #��"$%� ����' $���<� ~��� ,n�+* �Q ��3

����+/3 ���� 	�" �� ��@� �=> ��+* �A3 ���U:� b��
�� . ,C��
�����I���
 �!*�A� �U���
� �=>  7� �6��3 
F������ F�>+�$�A��
�%� 73 �"�A
� ;<���
� ������ H�
�� ���I ���* %  1��i 1� ��:�� $�N�c�$�
 ��i 1�� ,

�$�
4�*$X� _>��� ? �3'+� F�88�" F�h��c ? �M�
" 1��u$� 1��i 1�� ��u$� ��i� .  

��
� H�!�" ��+�8��
� F%��"%� ]�K� e F����+e� #�
W. F���r ;�
��� ��+� +>� ,���"�I �g�� �3� ��+�A
� �=
? V8$�+
� F��\+�
� ITU-R P.620�  ITU-R F.1245 � ITU-R F.1336.  

5.1  ������  

 �
8�
� H�!�" J. �U���
� �A��" $�8�$ V$�U
� 73 ��B�I E
0� 1����Pr ��i �A3 ���U:� %� $�N�c%� 73 ���A
�� 4�!U�*
 V$�U
� �
��� ��:��Pt4�*$X� ��i �B
/" &
� :  

(44)  
( ) ∫∫∫

η
π
λ=

all space rt

rt
tr V

rr

AGG
PP d

4
223

2

 W  

P�Q:  
λ :  �v+:� 4+p  
Gt:   ]�`)_�< (4�*$X� _��+e  
Gr:   ]�`)_�< (4�!U�*%� _��+e  
η:   ,~�Q V�Q� ;K
 $�N�cM
 4�
�
� n�Z�δV (m

2
/m

3
)  

A:   ;!U��:�� ;*�:� 1� 9�:� 4+p ��3 1>+" )L���<(  
rt:  $�N�c%� ~�Q ��A3� ;*�:� 1� �I��:�  
rr:   $�N�c%� ~�Q ��A3 1� �I��:�;!U��:��.  

 �
8�
� S!�"� $�8��
�1���� 4�*$. V$��< ;KW ? �BA3 E
0� ���A3 (dB) 1��i 1� $�N�c%� J. �!�A
�� ) ��i1 ��i� 
2 (_�� ��`:  

(45)  MASCZfL gR −++−−−= log10log10log10log20208                 dB  

P�Q:  
f:   88��
�(GHz)  

ZR:  �
� 7Kf� ,�$D� �+��� �A3 $�8��
� ��*�K
c� ��:� 4+�> 4�
� ;KW ? �BA3 9!
R (mm/h):  

  

4.1
400RZR = (46)  
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10 log S:   S���"(dB) $�N�c� J. �!�A
�� w��x%� $�!�3%� ? =<l� _`_���$ T+I �
h�+
� F�88��
� �A3 
GHz 10.  

( ) ( )








≤

>














 ϕ−
−+







 ϕ+
−⋅

=
−

GHz 10 for                                                                                                  0

GHz 10for    
2

cos1
105

2

cos1
10410

log10

7.16.134.0

f

fffR
S

SS

(47)  

P�Q:  

φS:  $�N�c%� ����'  

Ag:  �g
� 73 �"�c 1>+";!U��:�� ;*�:� 1� 9�:� 4+p ��3 ��+Z� F�' (dB) ��\+�
� 7� ]��0�� ,  
ITU-R P.676)  H��:�2(.  

M:  ;!U��:�� ;*�:� 1� [��U�*%� ��n�+� q�3 (dB).  

 4�
� ��3 ���h �h+�� 5���8 4�
I n�v F�� �sk� w�
" ��� ���< ;<�8 $�N�c%� ��3 ��+�A
� �=> ? $�N�c%� ���U��
>��:� 4+�:  

(48)  
08.0

3.3
−= Rd

c
                km   

� ,��:� 4+�> 4�
� �+K� �� ����0�� � 7� ��:� #��"$� �Q J. 1���� ,��:� ���< ? ,$�8��
� ��*�K
c�hR . ,����0��
� #��"$M
 L�
!" L���< ��*�K
c%� 4n�6�" �� ,��:� #��"$� T+I J. ;�� 4�
6,5− dB/km.  

��I ,C��
��� $�N�c%� ;Uc �
�8 C  ;��K" q+�U� _> ��` ��c�+�*� F�����Q. ;KW ? �B����` 7Kf� ��:� ���< ��3 ~���
_��:  

  ∫ ∫ ∫
π

ϕ⋅ζ=
max

c

h

d

hrrA

rr

GG
C

0

2

0

2

0

2

2

2

1

21
ddd (49)  

P�Q:  
G1 ,G2:   �����
 _��� ]�K
�1 ��@�� 2C�+�
� ��3   
r1 ,r2:  ���I��:� (km) 1� ;��K�
� ��A3 δV ��@�� 1 ��@�� 2C�+�
� ��3   

A:   -A3 E
0�� ,�Bv$�<� ��:� ���< ;<�8 ,��:� 73 �"�c 1>+"L���<.  
ζ:   L�
!" $�8��
� ��*�K
c�
#��"$M:  

  







>

≤
=ζ −−

R

hh

R

hh

hh

R for          10

for                          1

)(65.0
 (50)  

hR:   ��:� #��"$�(km)  
r ,φ ,h:  ��:� ���< ? ;��K�
� F�9g��.  

[��Q 5���� ��c�+�*� F�����Q. ;KW ? ���h$ V$+�� ;��K�
 . $�N�c%� �*�A> V�3��� ����!
� ? ~�M:� 7� -c� 9d
L�hM�c� 4�*$X� ��i 7� }QL�$��� 4�!U�*%� ��i  ,��� ���t ��3 L�8���3��"$�K�8 F�����Q. � ,� ��@� ����1 ��UA` 

;\�L��Yc  �� J. ��:� ���� _�
�
� mh+:�  7
w�
�zc�Z� $�N�c%� �
�Q ? ���* % ,V�W�!� .  

 ,7����:� 7��$�p. ?�"$�K�8 F�����Q. � 7� ��*�Ae� F���
:� ���r ;�+� ,G��!��
 L��
*� ,
� ~�U &
� n�Ax� _3��"
+��� _u$� ;�N� ~�h J. �$D�.  
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��3 4����� ������
� ����� ����h� � 1� ������
� �������+e�1� 7� ��Uc �A3 ��:� ���< mh+� 8��0� � 7�� ,�*�Ae� 
 1� mp�U�
�5$+i���� 1������
� 1� . � ��.�7� 	
�A> 7K�  ����h�1����� 1"�> 1� ��3 ��:� ���< mh+� =��A3 8��0� 

 �����
 ������
� ����� $+i 4+p1 ,? L��`���� [���h%� ��Uc 7� _�Y3D� ����� $+i  �����
 ������
�2 .� ? ]�
�
��� �=> ��c�� �
�Q J. �!�A
�� 4�*$X� ����< ���� ;��!�� �� �+*D� �
��� ����< ? ������ ,��i ;` F���
� 

����@� ;<���
� F��+�
 ��N� �+K".  

2.5  ����� ���	
�  

 4��Z� 5+�^7� �U���
� =��A�
 ��'M
� ;<�
� F���
� ;K� ����h ��3  V$��� _�`���
� m�'+�
� [��j S��" &

��:�� $�N�c%� 73 ~v�A
� 1��i 1� 4�*$X�.  

 4��Z�7  
�	
�� ��
��� �
���  

) �UQM
� 9/"1 ��@� F���
� J. 1 �UQM
�� 2 ��@� F���
� J. 2(  
�
����  ��
���� ����� 

d km ����� �� ��	
�� 

f GHz ��
���  
h1_loc�  h2_loc  km  ���� �	����1 ���� �	����� 2 
���� ��
� ������� ���
�� ��� )���� ��!(  
Gmax-1�  Gmax-2  dB "#��$ %&� '
* +,!- 

hR(ph)  km 

 .!��� /0 ���10 ��
2 %&3 4 567 89:�� ;<�	= > ?@�� 
��� �	���A "B*�
��� C�<����
ph) . �EFG�� CH��(1 

M dB �0I��0 JK7�BE2L� �� M	�N��A�  

P hPa  ��
�� K67 OPQ��) �R
���� �B�N��(hPa 1013,25 

R(pR) mm/h 

 /0 ���10 ��
2 %&3 4 	S67 89�� 	$<�	= > T�� 
��� U��$ ��
6� "B*�
��� C�<����
 .!���pR.  

T  °C  ��
�� K67 V��
W� �H��) �R
���� �B�N��(C °15 

α1_loc� α2_loc  rad 

��� ���B�� "��� ?��X�� Y�N1 ���� Z[ ��
6�	� 2 ���B�� "��� �	���A�� 2 Z[ ��
6�	� 
 ����1�7	
�� M�	N7 ;	=� 4 �  

εH1_loc � εH2_loc rad  ���B�� "��� \�L� C!�0 	����<1 ����� 2 

ρ g/m3
  ��
�� K67 I	�� �	] ��	^*) �R
���� �B�N��(g/m3 8 

τ 	H�K�	�_  ��`��� M	�N��� ����<°0) �"N�L� M	�N��A� Z[ ��
6�	� °90 M	�N��A� Z[ ��
6�	� 
?��B9��(  

 ������1 – 
��� �	���� O���0 JKa�
� C�<���� 
���� b �c[ hR U�Kd� C0 e�
�!A	� 8.  

3.5  �
�� �
�� ������  

 �����1 :����� 	
��
� �
���� ����  

'+�
� [��Q ���
� -
M< ~�� 5=
� bh+
� 7� ��+�� �!�c ;KW ? ��:�� $�N�c%� 73 ���A
� 4�*$X� V$��� _�`���
� m�
��:� #��"$�� ��:� 4+�> 4�
: ��
���Q%� F�
�'+�
� ��3 ,������ �=> '��� . F�
�'+�
� �=e ���@� ~�U
� bc�` ��.�

�e��
�*� ]��I ,V�����.J. #+v�
� 7K��I %.�  ��\+�
� ITU-R P.837 ��3 4+���
 
� F�
�'+�
� 4+�> 4�
: ���`���
 ��\+�
� J. #+v�
� 7Kf ��` ,mh+� 5� J. �!�A
�� ��:�ITU-R P. 839 ��:� F�3��"$% ��*+�:� ~�U
� ��3 4+���
  .

 ��*+�:� ���U
� J. �!�A
�� ��:� #��"$� m�'+" 4��
�*� ,]�g�
� [�� 7� ,7Kf ��`) 4��Z�8 ( m�'+�
�� H�
�� ���I
��:� F�3��"$% _�`���
�.  
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 4��Z�8 

������� �
���� �� ������� ���� !�"#$% &
'����� ()*����  

���� !�"#$� +,�	� 

(km) 

*-�.��� /�
��� 

(%) 

1,625− 100,0 

1,375− 99,1 

1,125− 96,9 

0,875− 91,0 

0,625− 80,0 

0,375− 68,5 

0,125− 56,5 

0,125 44,2 

0,375 33,5 

0,625 24,0 

0,875 16,3 

1,125 10,2 

1,375 6,1 

1,625 3,4 

1,875 1,8 

2,125 0,9 

2,375 0,0 

  

4+�0":� #��"$�� ��:� 4+�> 4�
� 7� ;K
 ���`���
� F�
�'+�
� 4���Q%� �I�N` 4��8 ;KW ? �� ��3 ��� +�A
� .
���h 1� ;\�I ;` J. �!�A
�� 1"$����� 1 ~�h 7���:� #��"$% �� ��:� 4+�> 4�
�,  �B�\+� ��*+�:� ���U
� =<l"

� ;\��
� �=e ��N�4���Q� 5����1
���Q� 1� T��
� -���Q F%���Q� 7� ���U:� '����
� � .5���"� ���h ;` " �+KhR 
 �B�
. �!�A
�� 7� ;h�0 km)  4��Z� ;�
��c ���A37 (0 km �I�u. m� �| �\��� F%���Q%�.  

:� 7���� ������:� 4+�> 4�
� �+K� ��:� #��"$��  ,��<D� 73 V�Q�+
� 1��U��� 1���
� ,�����QX� ��Q�A
� 7� ,
 P�j4���Q� �+K� �!�`�" ��� J. �!�A
�� �����  ��' 7� �
k�" 4�
���:� 4+�>/ ,��:� #��"$��p��� ;K� �"�c 
 ���rF%���Q%�.  

�]�� ��' ;` J. �!�A
�� 9�:� V$��<  �+K�� 4�
� ~�h 7���:� 4+�>��:� #��"$��  L�UI� F�+�a�
��
��
� .  

����� 2 :���� ���� ���� � ����!"� �
���#� ����  

 1��i 1� ��:�� $�N�c%� �*�A> 8���"J. L�8�A�*���*�*D� ;<�
� F���
�  ��Y

� V����
� �I��: d1� ,1��@�  ~�U
�� 
��i ;` _��+> #��"$� �����
 ���@� ε1-loc �ε2-loc ����� ��i ;` _��+e ������
� ����� $+i 1� &��
� �
�a�
� ~�h� ,

�3��
� [$�U3 ���� ? �!v+� �sk� w�
" &
� ��<D� ��@� ε1-loc �ε2-loc .=<l"� ��@� 1  �B�\+� 5� ,_
v�:� mh+:�
D���"$�K��
� F�����QX� q�Yc ? ;\ ,�+K" � 7��  ��
v�:� F���
:���`_�� :  

  loc_11 ε=ε� loc_11 α=α   � : locHH _11 ε=εrad                 (51) 
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L%����"$�K�8 F�����Q. q�Yc J. ��*�Ae� F���
:� ;` ;�+��� q+Uc ,���/�  ,� m� $�!�3 ��@�1 ;\D� ,�+��:�� _UID� 
 -�\+� �+��:�x-y ,@� 8���� $+x ��@� ���� ? 2� @� 8��� $+z �Wl� 5=
� L��8+�3��3D� +x  . ;K/
� Su+��4 

 �$D� ��3 �*�Ae����@�) J. �!�A
����Y

� V����
� 4+p ��3 5� ,q��D� +x $�N�c%� 7� ���!� �
�Q  ( P�Qreff  _>
,4�
�
� �$D� ��h ��c  

 km Eeff Rkr 50=  (52)  

P�Q:  

k50:  4�
�
� �$D� ��h ��c ;��

 ��*+�:� ���U
�= 1,33  

RE:   _U�U�� �$D� ��h ��c =6 371 km  

0����Y

� V����
� �I��� ��*�+� 1��@� 1� ;�� d (km)  �����
� �
�!h mU" &
�δ�$D� �`�� ? .  

  rad        

effr

d=δ (53)  

 ��@� �+��� �A3 _�@� 58+�

� G�� �+K��2LM���  �����
� $��U� δ ��@� �+��� �A3 _�@� 58+�

� G�� J. �!�A
�� 
1 $+i 5� ,Z .4+� ,C��
�����'� #��"$%� ����'  �����
 b��
� ��2 9/�� ,_�� �� +x ��3 +��� �u$� ;�N� J. 
� ���
loc ���@� ~�U
� J..  

  

  
  

 

 ��@�2

dc

hR htop

h2 

h2-loc 

h1 

reff 

h1 

Z 

reff 

���� ���� 

 	
��1 

�
��� �����

X 

 ;K/
�4  
 ��
�0��
1� 2$3� 4�5 6��1� 
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 �����
 #��"$%� ����' ]��2:  

  ( )δε+δαε=ε cossinsincoscosarcsin _2_2_22 loclocloc (54) 

 ��@� �A3 HID� ����'�2:  

  ( )δε+δαε=ε cossinsincoscosarcsin _2_2_22 locHloclocHH (55) 

 �����
 &��
� �
�a�
��2 J. �!�c ��@� 1:  

  















δε−δαε
αε

=α
sinsincoscoscos

sincos
arctan

_2_2_2

_2_2
2

loclocloc

locloc
 (56) 

� ��@� #��"$� ��
0�2+��:� T+I � _
v�:� _�� ��`:  

(57)  
2

1_22
δ−−= dhhh loc                 km  

�+K�� T�I 
� 1� mp�U�
� ��Uc �A3 1��@� 1� b�������$ ���Q ;` $+@ _u$D� �+��:� y�U*.:  

(58)  ( )21 α−α−π=αS                 rad  

����� 3 :���	
��� �
��� ��  

�"��
�� ; 8+�3 F�� �I+��� ��*�+� 8�
�� ��M� 5� n�6I ? -��� -�I ;N��� L�����" $�N�c%� FM\� �*�A> ���� �U��p
 $��@� ��3 �
:� Ga�
 F�p�U*X� 4�+p� ��3 5+�� �\�A3 ��M� 7� �+K�" �Q��x� y� z��"$�K��
� F�����QX� q�YA
  .

� -��:� ;N�������d Gt ]�K� ��$ ��*�+ .-��:� ���h ����` 7Kf ,�=K>�_�� �� +x ��3 :  

















=
z

y

x

V  

 ,���3 �����4+�
� V�Q� -��� ;N��� � ���
�V ? , 1Q;N��� q�3 -��� )4��A��#��"%� LMN�  ( �<� ��$ ��*�+�
 ,]*�A�RLMN� .  

 ;K/
� 5+�^�5 ��3 ~*$ _���� Su+� � �*�Ae $�N�cM
 ��*�*D��mp�U�� % P�Q zc�Z� $�N�cM
 ���

� �
��� ? ��:� ,
,mh�+
� ? 1������
� 1����� �$+i . ,��<� V$�!
��4��A��zc�Z� {�
� ����h� 4�N:� �=> � _����
� {�
� . 9�: 7Kf�

 �����
 ��!c�Z� �+��
� 7� �+K� �� ;<���
�2���
 _����
� {�
� J.  ��1 �� �K

�.  
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 ;K/
�5  

�	
�� �

�	�� ��
��� ��
�� � ���
� �

�	�� ����� ����� ���  

) ���� �����	�
�� 
 ������� ��������� ��� � �  
 ���"���� !���# "$�%&' (��*� 
 –  ��+,�-�� %./�(60)� ((61)  

  

��< �`�� mU� ��@� _��+e ������
� ����� $+i 4+p ��3 ��:� ��1 ��Uc �A3 _�Y3D� [$�U�
����+e� &��Q 1� 1 .
 q+U"� �*�Ae���*� ��3 ����" -��:�.  

w�
0�� ��@� 7� -��:� 1 ��@� J. 2 ���`:  

(59)  

















=

2

0

h

d

12R  km  

  

 F�B��:� � +K0"�R12� r2V20 � rSVS0�r1V10 KWLM8�
�� ��M� �� #MuD� 8�
��  -��:� �+K�� ,VS0L����
��  m� 
 1B��:�V10  �V20 .� -��:�VS0 ;K/
� ? 5 �+��� m� ���
������
� .  

V�3���� % 4+�
� V�Q� -��� [��j q+Uc ,�$D� n�AxV10 ��@� _��+e ������
� ����� ���� ? 1.  

  

  

















ε
αε−

αε
=

1

11

11

sin

sincos

coscos

10V (60) 

 ����2  ����1 
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 4+�
� V�Q� -��� �+K��V20 ��@� _��+e ������
� ����� ���� ? 2:  

  

















δαε+δε
αε

δαε−δε
=  

sincoscoscossin

sincos

coscoscossinsin

_2_2_2

_2_2

_2_2_2

loclocloc

locloc

loclocloc

20V (61) 

  

�"�� �U���
� ;�
 ��� ,1B����
 �$��:� �"�A
��_�� �� +x ��3 ~�U"� ]�K":  

212121 zzyyxx ++=⋅ 21 VV              P�Q   
















=

1

1

1

z

y

x

1V  

  

8���$�N�c%� ����'  φS���+e� &��Q 1� �����
� 5� ,,1 1B����
 �$��:� �"�A
� 7� V10� V20:  

  ( )1020 VV ⋅−=ϕ arccosS (62) 

  

 �
�Q ?�φS < 0,001 $����+e� ����Q �+K" ,���81L�!��U" 1��'�+��  7Kf� %���I� �� �k 5� ����h��:�� $�N�c%�� G!"� ��
* �+K�LM�B�.  

  

 ��`�Su+� +> ;K/
� ? 5 �
�$D� F�B��:� � +K0" ,R12� r2V20� rSVS0� r1V10LMKW  ��M� �� #MuD� 8�
�� L�U�g� 
8�
��5� ,:  

  012 =−++ 10S02012 VVVR rrr S (63) 

  

 F�I��:� J. �!�A
�� �
8�
:� �=> ;Q 7Kf�ri . �U���
� ;�
��"�n��v � 1B��:�]�K0" ~�U"� ��`_��  . �"�c 5�����
1B��:�:  

















−
−
−

=×

2121

2121

2121

xyyx

zxxz

yzzy

21 VV  

  

 4+�
� V�Q� -��� ]�^�VS0L����
�� �+K� 5=
�  m�  ���`���+e� &��Q1  1B��:� n��vV20 × V10:  

  

Sϕ
×

=
sin

1020

S0

VV
V

 (64) 
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 �
8�
:� ;Q 7Kf�(63)¡�U�� ]�K� 5=
� ��MN
� F�B��:� 8�i 4��
�*�� _�� ��` ~:  

[ ] ( ) ( ) ( )122133113223321

321

321

321

detdet zyzyxzyzyxzyzyx

zzz

yyy

xxx

−+−+−=
















=321 VVV  

�0" ��Uc �A3 1����� 1� �I��:� ]��_�Y3D� [$�U�
�:  

  

[ ]
[ ]S02010

122010

VVV

VVV

det

det=Sr (65) 

�I��� �+K"� ;��:� 9�:� r1 ��@� 1� 1��Q 4+p ��3 �B ��Uc� ������
� �� 7� _�Y3D� [$�U�
�������
� ���  
 �����
2:  

  

[ ]
[ ]S02010

S02012

VVV

VVV

det

det

1=r (66) 

;��:� 9�:� �I��� �� 1Q ?����U:�  r2 ��@� 1� 2 4+p ��3 �B��Q ��Uc� ������
� _�Y3D� [$�U�
� � 7� ������
� ����
 �����
1 _>:  

  

[ ]
[ ]S02010

S01210

VVV

VVV

det

det

2

−=r (67) 

 ]���"4+�� ����' " $+@� �$�<ψ1  ? ��@� 1 
 ��UA_�Y3D� [$�U�
��� $+i 1�  �����
 ������
� ���2:  

  









=Ψ

1

1 arctan

r

rS
 (68) 

�+K"�" �+�� ����'£4 " $+@� �$�<? ����U:� ��@� 2 
 ��UA7� _�Y3D� [$�U�
� �����
 ������
� ����� $+i 1:  

  









=Ψ

2

2 arctan

r

rS
 (69) 

L�hM�c������
 ����h� ��A> ��` ��. �� 8�x ,F���
:� �=> 7� 1������
� 1�  1��@� 1�% q� . ����h� 	
�A> �+K� _K
�
1������
� 1����� 1�.�+�� �����
 _g!A� £4 ;h� �+K" ��  ���U�3 dB  7� ���Q ��3�
:� _��+e� . ������ H�
�� ���I�

 7�I E`� 4+Q �v+� %.
�;��U,�v� �. ,���� ����h� 7� 1������
� 1�. 9�� ��k��*�  {�
� ����h�� ��*�*� ���� 4�*$X�
zc�Z�� ������
� ����� .� ,�
��� �=> ? ? �YA
� _g!A�1��c�K�.�+K� �� ��3  ����� $+i 4+p ��3 ��:� ���< G*� 

_��+> ;K
 ������
�7� $��U� ¤�<� �+K� ��� �$���  4�*$X� V$��< f�+*D� �
��� ;N .L��Yc� mh+:� �� J. ���:� �
L�!�d ��:� ���� �A3 �+K� ��Uc _�Y3D� [$�U�
�  7�����
� ����� $+i� �����
 �1 , 7K�:� 7�I F���
� 4�!��c �� 

 ��@�2 ��@� F���
� 1� ��K

�.  

L�9<��L�6�� 5$��6
� 7�  ���� F�p�U*X��M3� ��+�@� F�I��:� ���a: ��UID�  , &
�� �B�
. 8�A�*%�� 7Kf mh+� ����
��:� ���< .7¡�!�� ;K/
� 6 y�U*. G�rzc�Z� $�N�cM
 ���

� �
��� .  
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 ;K/
�6  

�	
�� 
����	�� �	����� �����   

  
  

]��0" ��@� 1� ��UID� �I��:� 1 ,��:� ���< �`��� 5� V�W�!� mU" &
� �$D� ��3 ��UA
� b� ��Uc  _�Y3D� [$�U�
�
7���� $+i  �����
 ������
� ��1:  

(70)  111 cosε= rd  km  

�+K"� ��UID� �I��:� 7� ����U:� ��@� 2  J. ��3 y�U*X� �+��:�u$D�_ ��Uc 7� [$�U�
� _�Y3D�:  
(71)  222 cosε= rd  km  

�+K�� ��Uc 7� �$D� T+I #��"$%� [$�U�
� 7� _�Y3D��
� ����� $+i  �����
 �����1:  

(72)  110 sinε= rh  km  

 1Q ?�+K� ��Uc #��"$� [$�U�
� 7� _�Y3D� �����
 ������
� ����� $+i 2���� ����h� 8+v� q�3 �
�Q ? 1� 
�����
�1�:  

(73)  220_2 sinε= rh  km  

����� ��:� ���t ��!"�:� #��"$%� F���
� ��" �� J. S $�N�c%� �
�Q ? ��Y

� V����
� 9�� 73 �
�� 5� J. �!�A
��
 zc�Z���:�� .�+K"��I��:�  1��@� 1� ��Y

� V����
� 4+p ��3:  

  11sinα=dd p  (74) 

 5���
� �3�!�
� �+K��=��A3:  

(75)  
eff

p
p

r

d
=δ  km  

 ��@�2  ��@�1 

��:� ���< 
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8�^� S����
� ��� 
�Q ? q'M
� �zc�Z� $�N�c%�:  

(76)  
2

1

p

pc dhh
δ

+=  km  

��:� ���t ��!"�:� ��<D� F���
:� ��3 S����
� �=> H�!�" 1
�� -c� �`=
�� ���v� ��:� #��"$� 5� ,hR ��3D� ���� 
 ;��K��
htop ,���� ?� F�'�g
� ��*�+� 1>+�
� ) �Yc�V+��� 8 ( 5=
�]�������
� 4��
�*� ���i F.  

  

+�A
� �=> ��3� J. �!�A
�� ��:� ���< mh+� �����
 �e��
�*� 1
�� &
� �A`��
� ��*�Ae� ��*�*D� F���
:� ���� ~�� 
��:�� $�N�c%� 73 �o�A
� 4�*$X� V$��< ~��U�
� F��@� . ]�� ��� 5=
� ;��K�
� ��A
� �\��� �*�Ae� ? �YA
� �h

�+K� ��K� 5� ?  ,��:� ���< 7�}QL�U!�� w¥�
0� ;��K�
�� H�
�� ��3� �Q  htop _` ;` _��+> ]�` ���� ¦��� 
 	
=`� ��:� ���< ? ��Uc1>+" ;` ���� ? ,��:� ���< ? 9�:� ��i .1
�� ���g
� �=e� 4�U�cM
 F�����QX� q�Yc 9�g" 

��c�+�*� F�����Q. J. r) �φ� (h V�`����< 4+Q ��:� ���.  

 �����4 :����	� 
�� 
���� ����  

���
�  F�����QX� ;��K" ��A3 �A3 _��+> ;` ]�` [��Qr) �φ� (h  ,G�A
� �=> 7� _��+> #�
W. G�r 4��
�*��
 [��Q�1>+" ,��<� ��Q�c 7� ��:� ���< ? 9�:�  ��3 ��A3 mh+� �A3 �����
� $+i 73 w��x%� ����' [��Q
� ;��K�
� ;` ���� ? ,��:� ���< �I�Q J. ;��K�
� ��A3 7� 9�:� 4�+p���i . ;K/
� Su+��7 �B�I ;N� &
� �*�Ae� 

 ��UA
�A ��A3 
� ;��K�
� _��+/
� �A3 F�����QXr) �φ� (h  1Q ?�� ��UA
� B GU�� _>�$D� ��3 ��UA
� �=>  .
1!�� ;K/
� 8 �*�Ae� �=> y�U*. G�r.  

  

 ;K/
�7  

���� ���� � ���� !��"# $%��&� '�( �)�* �����  

  
 ��@�2 

 ��@�1 
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 ;K/
�8  

 
�� �	
��$%��&� '�( �)�* �����  

  
  

0" ��@� 7� ��UID� �I��:� ]��1 ��UA
� J. B:  

(77)  ϕ++= cos2 1

2

1

2

1 rddrd
B

 km  

  

_��+e ������
� ����� $+@ _UID� y�U*X�� 9�:� �=> 1� �����
�� ��@� 1:  

  






 ϕ=δα
1

1

sin
arcsin

B
d

r
 (78) 

  

 ��UA
� #��"$� ����' ��
0"�A ����:� ��@� 7� 1��*�+� :  

  







=ε

1

1 arctan

B

A
d

h
 (79) 

  

w�
0�� ��@� 7� 4+�
� V�Q� -��� 1 ��UA
� J. A `_�� ��:  

  

( )
( )

















ε
δα−αε−

δα−αε
=

1

111

111

sin

sincos

coscos

A

A

A

A1V (80) 

  

 ��@�2  ��@�1 
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 ����" $+i 73 w��x%� ����' 8�x� F�����QX� ��UA� H�
�� ���I _��+e�r) �φ�  (h J. �!�A
�� ��@� _��+> 1:  
  ( )10A1 VV ⋅=θ arccos1b (81) 

  

�+K"� ��@� 1� �I��:� 1 ��UA
�� A:  

(82)  
1

1
1

cos A

B
A

d
r

ε
=  km  

  

 J. $�/�� F�B��:� ��R12� RA2� RA1 = rA1VA1 +K" L�N�N� �L�U�g�  7Kf� ,��4+� ��@� 7� -��:� ��3 2 ���� ? 
 ��UA
�A �A3 r) �φ�  (h7� :  

(83)  A112A2 VRR 1Ar−=  km  

  

 ��@� 1� �I��:� ]��§ C��
���2 ��UA
�� A ��`_�� :  

(84)  A2R=2Ar  km  

  

�+K� ��A�� ��@� 7� V�Q+
� -��� 1;��K�
� ��A3 ���� ? :  

  

2Ar

A2
A2

R
V = (85) 

  

������' 	
� �
� 8� %� $+i 73 w��x �����
 �����
�2 ��A

 ��UA
� �A3 ;��K�
� A F�����QX� F�� ,r) �φ� (h:  
  ( )20A2 VV ⋅−=θ arccos2b (86) 

 

 %�;�
��" �M3� V8$�+
� �U���
� 
������
� F����+e� J. �!�A
�� %. _��+e� ]�` ����� .I ��� ��@� _��+> ��`AL��3��h  
 J. ��Uc 7� 5+�8��
� P!
� ��Yc� J. �!�A
�� 4��� +> ���N� ,F�>��%� ;��W ��y�Uc V�3;�
��c ,=��A3  ���� �U��p 

LM��h  �����
 5=
� _��+e� ]�` % 9g��%.58+�

� ���%� ? GUI )  �U�A:� ;<�8�B��g" &
���:� ���<  .( �=> ?�
�� �U���� 58+�

� ���%� ? �����
� $+i 73 w��x%� ����' 8���" ,�
�_�� ��` G���:  

  111 ε−ε=θ Ab (87) 

  

 ��@� _��+> ��` ��. ,;N:���2L��3��h  ,F�>��%� ;��W �� ��I 58+�

� ���%� ? �����
� $+i 73 w��x%� ����' 
_�� ��` 8���":  

  

222 ε−ε=θ Ab (88) 

  

P�Q:  

  







=ε

2

2 arctan

B

A
d

h
 (89) 
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� :  

(90)  ( )
111

2

1

2

2 cos2 δα−α⋅−+=
BBB

ddddd  km  

  

�k� 9`=�
� ~B:� 7�� �����
� $+i 73 w��x%� ����' V8�3 �BA3 E
� � ;�
��0" ���A3 F�v$�
� L��+�3 #�
W. F���r ?
 1Q ? _��+e�73 E
�F�N�N:� ~�3 4��8  ? Y
�~ L��+�3 F��¨E
� �V�Q+���8��
�  . G��� ;�+� n��v. _g!A� 	
=
� 7�

� ���8��
J. 
�;��K�
� F�n��v. ? �����
� �=> 4��
�*� ;!h F�v$�.  

 7Kf�C��
�� G�r 7� _��+e� ]�` [��Q #�
WX� 7��  ��h� ]�`7�� -
 �����
� $+i 73 w��x%� ����' _>� 
 �
�8 ~Kj�< ? mh+:���:� �� .7Kf�	
� wM<  ;�
��c �� :� F���a
�? 8�" &
� #�
W©
 ��v�+�A7� 5� �\+�
� � 

ITU-R P.620)  	
=`�(ITU-R F.699 �� ��\+�
� ITU-R F.1245 ,L���3 � ��!c�Z� �+��
� ��+* �k? �6�aA�G�r  
��\+�
�9<D� V .V$��u J. $�/����< ]�K
� 73 9!
�
� L�. �!�A
�� ;��K�
� J.  

����� 5 :���� �	
� ���
 ������ ��� ����  

0" 1��@� 7� ;` ���� ? ;��K�
� ��A3 7� 9�:� ����< ��� 8��A1� A2 ,��3 �h+�" &
�� F�9�:� 4+p  ��3 mh+�
��:� ���< ? ;��K�
� ��A3.  

��:� ���< ~�UA"�,  ;K/
� 	
� Su+� ��`9 ,,q��Q� ��M� J. .I� ,_���
� ~��� __u�

� m�U:� �+K����� $�N�cM
 L� 
 ;` ?�� ���~Kj 8����� $�8��
� ��*�K
c� ZR�$D� �+��� �A3  �+K"� ζ(h) = 1 .��
�"� ��:� ���< ;<�8 F�9�:� 

 1��@� 7� ;` ���� ?x1� x2��:� ��*�+� 1>+�
� J.  .� G*�D� ~��� ? ;��K�
� ��A3 mU�� T+I ��:� #��"$
 {h�A���_u�

� m�U:� $�N�cM
 m�"$� ���` J. ;�� 4�
� ,��:� #��"$� T+I 6,5− dB/km .7K
� n�Z 7Kf f ;` 7� 
 �� 9���f ����8 ����  E3 ,��:� ���<��8L�
!" ,��:� #��"$�  � 7�� ,�*�AB�
 ��
�" ?�u. 1>+" J. F�9�:� �=> 

 ��3 ��:� ����c �+K� 9�:� n��v� 4+pfx1,2 &
� E3 �������  .� 5+�

� ~��� ? ;��K�
� ��A3 mU� %� ��:� ���< T+I
�f F�9�:� 7� n�v 5�  E3 ��:� ���<��8��:� #��"$�  .� 	
=
 %��
�" 1>+" J. F�9�:� �=> ]!����:� .  

 ? q��QD� �=> ? F�9�:� 4+p ~��U" 5���
� F�+����UQM.  

�	
��� �
��  

 ��:� #��"$� T+I ,_���
� ~��� ? ,;��K�
� ��A3 �+K�hRL����8  ,��
�"� 1>+�
� J. ��:� ���< ;<�8 F�9�:� m�o 
]!����:� .  

  dB      2,12,12,1 xA Rγ= (91) 

  

 P�Q2,1
2,12,1

α=γ RkR ��:�� 1>+�
� ;��
� (dB/km) �M��
:� �£�
0�� ,k1,2 �α1,2 88��
� ]�j f [��U�*%�� τ 
 9�:� #��"$� ����'�ε1,2  ? ��` ��\+�
�ITU-R P.838 . ��:�� 1>+�
� ;��
� �� �QMc���3 �h+�����'  9�:� #��"$� �

��!:� P�Q 7� ]��0� �� _g!A��F�����QX� ~�h 7� ���h ;` J. �!�A
��� ;��K" ��A3 ;` J. �!�A
��  r) �φ� (h .%. �� 
 #��"$%� ����' ]�j 9g�
�;��u ~�U
� ���� _�K�� γR ��*� ��3 ��i ;` ���� ? F�9�:� J. �!�A
�� V�Q�� V�� 

����' _��+> #��"$� 	�" @���.  
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 F�9�:� 4+p [��Q ~���rx1� rx2� x1� x2L�hM�c� �*�Ae� 7� x ��3 _�� �� + .1!�� ;K/
� 10 $+YA� �+��:� _UID� 
 ;��K�
� ��A

A y�U*X� ��UA� �f 5=
� B �$D� ��3 . �� ����� �A>��+K" ���U
� ����:� ��@� #��"$% 2 ,h2 ? ,

L���\ ����!
� .�3����L�UQ% 	
� .  

 ��UID� �I��:� ]�x�dx1 ��@� 1� ;��" &
� 1��:� ���< �I�Q� )  ��UA
�X1 (L�hM�c� q���
� ]�v V�3�h 7� )����� 
 �!
��
� ��M

��sD[�hD� �I��� :(  

  

(92)  

2

2
11

22
1111

2
coscos 







+−δα−δα= c
x

d
dddd                 km  

  

��:� ���< �I�Q J. ;��:� 9�:� ��3 �I��:� =��A3 �+K"�:  

  

  

1

1
1

cos A

x

x

d
r

ε
=                km (93) 

 ;K/
�9   
��
������ ��	� � �������  

 ���� ����	�hR 


���

����� 


���
�����


���
������ ����1 ����2 
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�� ��UA
� �A3 ;��K�
� ��A

 �
�a�
� ����' 8�A ��@� J. �!�A
�� 2:  

  

( )
( )







α′+ϕ+′
α′+ϕ−=δα

S

S

rd

r

cos

sin
arctan

2

2 (94) 

 ��
" P�Q
S

α′ _�� ��`:  

  







α

′
=α′

1

2

sinarcsin
d

d
S (95) 

�  

(96)  11

2

1

2

2 cos2 α⋅−+=′ ddddd                 km  

�]��  ��UID� �I��:� d
x2q���
� ]�v V�3�h 7� :  

(97)  
2

22

2

2

222 sin
2

cos α′δ′−






−α′δ′= d
d

dd
c

x
                km  

0"� ;��:� 9�:� �I��� ]��r
x2 }Q ��@� 2L�$��� ��:� ���t :  

(98)  
2

2
2

cos A

x
x

d
r

ε
=  km  

 ;K/
�10   
������� �	
� �� 
������ ���
� ����� ��� 

 ����1 

 ����2 
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1
���1�
��� ? �YA
� ��� 1��
��
� :  

 �����1:  �+K" ���A3  ��@�1 �+K" ���A3 5� ,��:� ���< �$�< 2/1 c
dd > . ,�
��� �=> ? 7
�+K� %. ��:� ���< ? 

 �Q�� 9�� n�v ;��K�
� ��A3 7�A ��@� J. 1�  � 7�ª1>+�
� J. ��
��  

 �����2:   �+K" ���A3L��v V9!` #��"$%� ����' ��@� mU"� 13 5� ,��:� ���< ?  �+K" ���A2/1 c
dd ≤ . ,�
��� �=> ?

�+K�* -��`k� 9�:� }Q ��:� ���< ? ��:� #��"$� ��
���1>+�
� J. C��
�� .  

�0� 9�:� 4+p 8��x1 ��@� ���� ? 9�:� 4+p ��3 ��:�� 1>+�
� J. �!�A
�� 17� :  

(99)  










≤

>−
=

2
 if              

2
 if     

11

111

1

c
A

c
xA

d
dr

d
drr

x                 km  

  

� 8�^ 9�:� 4+px2 ��@� ���� ? 9�:� 4+p ��3 ��:�� 1>+�
� J. �!�A
�� 27� :  

(100)  










≤

>−
=

2
 if              

2
 if

22

222

2

c
A

c
xA

d
dr

d
drr

x                 km  

 

 ��:� #��"$� T+I ;��K�
� ��A3 �B�I �+K� &
� �
��� ? ��:� ���< ? 1>+�
� 8�^ �� 7Kf ,�=K>�L���<7� :  
  ( )[ ] RRRb hhxxkA ≤γ+γ−=  ifexp 2211 (101) 

 ;N� P�Qk = 0,23026   ���h �����
 7� 1>+�
� ;�+��V�Q� dBJ. F��Q�  E�c )Nepers(  

�������� �	��
 ��

� �	  

=> ? ;��K�
� ��A3 �+K�7� 1���� ,��:� #��"$� T+I hR ,�� �h 7K
 ;` ���� ? 9�:� n��v� ¤
� E3 ��i ���< 
 ��:���8%�  #��"$hR .? %. ��^ % �=>� �B�I �+K" &
� �
��� �����' #��"$%� εA1,2  ;��K�
� ��A

A �g\� 7� 

1�����
� εC1,2 ��i ;` ~«�c 1� 1�
h�+
� ���3 �I�Q [�h����. 5� ,��:� ���< 7� ��` :  

  







=ε<ε

1

11 arctan

x

R
CA

d

h
     �     







 −=ε<ε
2

2
22 arctan

x

R
CA

d

hh  

��� �=> ? �
��"�A
� 1>+�
� $�!�3%� ? =<l� �� ]� .�+K��L����\ ��D� �=>  �
��� J. �!�A
�� �\�< ���� 2 V8$�+
� 
 #��"$� ����' �+K" ���A3 �M3��Q����+e� 1L��v �
�"��  ���A3� �+K"��:� ���< ? ��@� .  

L�8�A�*�� ;K/
� J. 9 &
� F�3��"$%� 8�x �� 7Kf ���>�A3  ��UA
� J. ;��K�
� ��A3 7� �
WD� A w�+Q E3 ���< 
 ,��:�7� 	
�� 1� ��UID� F�I��:� ]�c ��i ;` 1�� ��:� ���< �I�Q� ��i ;` ��UA
�� B:  

(102)  

( )
2

2

2

22

1

1

1

h
d

d
hhh

d

d
hh

B

x

e

B

x

e

+⋅−=

⋅=
                km  
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F�9�:� 4+p n��v� ���� 7Kf�fx1,2  &
� E3 ��� 7� ��:� ���< ]�A
:  

(103)  








<>>














−
−

=

                           0

  and     if      
C1,22,12,1

2,1

2,1

1,2

2,1

εε
AeR

e

eR

x

hhh
hh

hh
x

f  km  

  

L�9<�� 0� 1>+�
� ]��L���< ? F%��� ,��:� #��"$� T+I ;��K�
� ��A3 �B�I �+K� &
� hR:  
  ( ){ }[ ] RxRxRR hhffhhkA ≥γ+γ+−−= for 5.6exp 2211 (104) 

 �=> S��"�;��K� ������ V+���
 $�N�c%� ;Uc �
��.  

����� 6 :���� �	
� �
�� ������  

:� ���U���h ���< ��3 �A> ���
��:� �g��
� ? ���> dc �¬8�Q ��` �*�A> V+��� 2 E�
�� ��:� 4+�> 4�
� L��Y�A� 
����� �=> ;<�8 .L��+�3� V�/
� P�Q 7� 4n�6��� �U�A:� �=> ��:� '����� F8�8'� ���` �I��:� 7� 1
��� ����� G*� 

$�!�3%� ? 	
� =<l� �� .7K
�@� bc�` ��.  ,��:� ���< ;<�8 ���D _3�8 % =��A3 1>+" 5� $�!�3%� ? =<l� 
� _v$�< ]!���@� �=> J. �!�A
�� ��:� .L���
� ;��K�
� ��A3 ��` ��. ,	
� ��3 V�M3� ��:� #��"$� T+I w�` ;K/� 

 �� 	�" �� ��@� �=> ���� ? 9�:� 7� n�v 5D 7Kf % P�jE3 �f��:� ���< =��A3 ,��!��� ? =<l� %  1>+" 5� 
9�:� �=> 4+p ��3 _v$�<.  

 4n�6�� ��:� ���< �$�< ? ��:� �� ����c ,]��U�
� ;�!* ��3������� � �I��:_�� ��`:  

(105)  
( ) 19.0

15.0
10600

+−−= R
m Rr                 km  

�0� $�N�c%� J. �!�A
�� ,��:� ���< �$�< 1>+�
� ]����8"$�  ,��:� #��_�� ��`:  

(106) 













=≤

≠>



















−

ε
γ

=

0or       
2

 if                                             0

0  and   
2

 if       exp1
cos

2,12,1

2,12,1
2,1

2,1

2,1

2,1

x
c

x
c

m

x

A

mR

ext

f
d

d

f
d

d
r

dr

A                 dB  

 ��3 1>+�
� �� 5�L���\ E�
� 7�9�:� 7� 5� ��:� ���< ? ��A
:� ��@� bc�` ��. ( )2/2,1 c
dd ≤ ��A3 ��` ��. �� 

 %� ��:� ���< T+I ;��K�
��f 9�:� 7� n�v 5�  E3>� ,��:� ���< 8���� �� + 9�:� n�v ��` ��.fx1,2 �L���\ 5��� q� 
%.  

����� 7 : �������������
������ ��� �����   

 J. ;��K�
� ~�UA�1��h $�N�c%�� 4�D� H�
�� ,��8��:� #��"$� T+I $�N�c%�� ­�N
� H�
��� ��:� #��"$� :  

  ( )[ ]∫ ∫ ∫
π

ϕ⋅++γ+γ−=
R

c

h

h

d

extextRR

AA

b hrrAAxxk

rr

GG
C

min

2

0

2

0

2122112

2

2

1

21 dddexp (107) 

 ( )( )[ ]∫ ∫ ∫
π

ϕ⋅++γ+γ+−−=
top

R

c
h

h

d

extextxRxRR

AA

a hrrAAffhhk
rr

GG
C

2

0

2

0

2122112

2

2

1

21 ddd5.6exp (108) 
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��< _��+e� ]�` 73 E
� P�QL� �����
� $+i 73 w��x%� ����' ]�j ,θb1,2(r, φ, h).  

����3 5�����
��
� ~�U
� ��� ��3 ,��c�+�*D� F�����QX� ? ,;��K�
�  : J. �!�A
��r 7� 0 ��:� ���< ��h ��c J. 
dc/2 J. �!�A
��� φ7� 0  J. 2π . 7Kf�mu� ¤
�  8+�U
� ;��K��
 P
�N
� 9g�:� ��3h  +>���:� ���< ;<�8 #��"$%� .

 ®8D� #��"$%� 8�����hmin ��c�K�X L�
!"  ��¯$ ;` 7� ��:� ���<��i .H��3 �v� ��.�	�" �� ��@� �=> 7� ���U� ��3  
 =��A3F�3��"$%� 7� $�N�c%� 8�
!�*� _g!A�;<�8  ��:� ���< ����:� 9d 7� 7� 	�" �� ��@� �=>����3 ;��K�
�  . 7Kf�
C��
�� ;K
 HID� ����' 7� ;��K��
 ®8D� #��"$%� ���� ��i_�� �� +x ��3 ,:  

(109)  ( )
2211 tan,tanmax HxHxmin ddh εε=                 km  

�QM��L���h �A> ;�
��c �Ac� L��Yc ���i  �� J.  5� ]�Q ~Kj ;\k�� �$D� n�Ax��A3�' ��\ �B���h #��"$� ���  �h
 H!*F=<� �������
� $+i 73 w��x%� ����' ���� �A3 $�!�3%� ? .  

 7Kf����� ,;��K��
 ��hD� #��"$%� htop ;��U��
 , �Q ��h� J.L��Yc [���� 8+�h 7� -c� J. ��
 5$��6
� 7� 
L��+�3 $�N�cM
 4�
�
� n�Z� ���8. �A3;U" &
� F�3��"$%� _��+B�
 ��!c�Z� �+��
� F��+* �Bh+I  . �� ,]�g�
�� ,����c�

 -h+I 7Kf 5=
� #��"$%� �h� �h�
� P�Q 7� V$��< ���� ;��K�
�+> 15 km.  

�� ��������	
� :�A>
 7� ���

� 5+��� _�h�
� ;��K�
� T�p 7� ���

� 	F��¨E
��u���
� � ;��K" 4��8 ��3 ��\k�� 

�*� �e��
�*� 7KfL%��L%�
I  . �h�bA>�� ��*�+� $��K�
� F��AU" J. �A��" &
� T��
� ]h�
�:� ���A�
� ;��K�
� ;\�+�
 

 7� �3+�¨ ��+�" ? ;�
��:� ]d�� ���A3 �>���v 73F��¨E
���<� ��¨�� F�g
 ��*�+� ���a�:�  .]�A"� �=> 
 °E��$ J. �U���
�(Romberg)L�9g�� ;N� _>�  �!"$ 7�  ��
v�:� �U����
 ��3�w��A:� ��!WD) �+�± V�3�h( ,
 ;��K��

 ��*�+�]h�
�:� ���A�
�;��K�
� ;\�+�
 .  

 ;��K��
 °E��$ �U��p ;�
��"����
+" 1�U��p 7� �
k�" 8�3�1�[��� ���h !��U" �� _U�UQ ;��K�
5� ,:  

( )∫=
b

a

dxxyI  

 �U��p ;�
��0"���!W��
*+:� w��A:�  [��� ��
���� V�� ;` ? ~��� ,;��K�
� F�!��U" 7�  1� ;\�+�
� ���A"

���U�1 . 	
� �
� ;�
��c�L��v$�< L%��K�*�L��8��Q ;\��
� 4+p ²�!� �� J. ��
���:� [��� L���\  . �=> {�a�" 7Kf�

 �U���
�q��a�*��V��W -!W ? V��3 :  
  Index = 1 

  WHILE estimated_error > desired_error DO 

   S(Index) = ­�N
� ;�
�
� ;\�+I ;�
��" &
� w��A:� -!W �U��p ��*�+� ]��U" 
   I = S ���U
 58��Q _v$�< 4��K�*� 
   Index = Index + 1 

  ENDWHILE 

 �
������������ ������   

7Kf;��K�
� ]��U" [��Q  1� _�< 4��K�*� ��*�+� N + 1X� 7�  F�����Q
����A� ������� �3�!�
� ( )ii yx ,  ��3
C��
� +�A
�:  

( ) 






 ++=≈ − NN
N yyyyNhTI

2

1

2

1

110 L  
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 P�Q( )
N

ab
Nh

−=  _>��A��
� F�����QX� 1� ;\��
� .  

 ;\�+�
� 8�3 �3�6� �� 7Kf��$��K�
�:  

( )( )1331
2

2
2

1

−− +++= NN
NN yyyyNhTT L  

7³K��$ �U��p � 7� °E� ��
���� n�A�$��K�
� 4M<( ) i

TiS
2=.  

������ ��	
�� �

����� : ���U
� ��3 ]��U�
� ? k��� �+K�I L��8��Q ;\��
� ? w��A:� -!W �U��p ? h
25� ,:  

  
  

NN
TI ε+=  

P�Q:  
  ))(( 2

NhP
N ≅ε  

    �P ��8��Q �
+B¨.  

 	
=` E�
"���
���� F�!��U�
� � �U���w��A:� -!W ,NN
T ε=��8��Q �A3 L�6��  h

2 7Kf C��
���  4��K�*� 4��
�*�
58��Q ���U�
 ;\��
� �+K" ���A3 0→h . ��.�F�I+" m F�!��U�
� 7� � �U���-!W ������ q+Uc �� �A
 7Kf ,w��A:� 

 V�Q�� ��8��Q �N`� % �v$�
� 7�M − 1 y�UA
� ��*�+� ( )( )nTnh ,

2 J. �!�A
�� 1
2 ,,8 ,4 ,2 ,1

−= M
n L .�¡!
�� ~��U" 

 ��8���� �=>V����
� ;KW ? h = 0  738��� ]��U" �U��p -!Ww��A:� .  

�" ;�
��V8�3 �U��p ;���c (Neville) ��8���� ���h [��� �A3 h = 0 .� �U���
� �=>7� 7³K� �
�
I ���U" ��3 4+��� 
 7Kf k�a�
��
�*�-
$ ;��K" n�sX �°E� .]��U" _>� ��*�+� %� F%��K�*
� ���<���� ���:� ��8��� �
���� 4��K�*%�

�v$8 7� �c��dM
 _�<��
���3�  ._�� ��` �c��d% �U��p �\+" �� 7Kf� :J. �!�A
��M + 1  y�UA
� 7� (xi,yi)¡�
" , w
 �v$8 7� ��8��Qm ���
+" �B�\+��
� 7� �
k�" ���< ��*�*D� 4��:  

  

( ) ( ) ( )
( )∑ ∑ ∏

= =
≠
= −

−≡≡
n

i

n

i

n

ik

k ki

k
iiii

xx

xx
yxLyxP

0 0 0

  

5�  

( ) ( ) ( )( ) ( )
( ) ( )( ) ( )niiiiii

nii
i

xxxxxxxx

xxxxxxxx
xL

−−−−
−−−−=

+−

+−
KK

KK

110

110  

  

�=> _�<��
� 4��K�*%� �U��p ? _g!A���I�
�  $��@� ;` yi ¦��� }Q . ;� ���U" 8��x = 0, FMK/:� J. �!�A
�� ��� 
 V�U
:���I �U���
� �=> ;g��" % �sD L��Yc �
�
I 9d� ���<��
� F%��K�*%�  �U���
�U�
�:���3� ]"$ +x $��K�
��  .

� ;���c �U��p����3��8��Q ]��U" 1� �hM

� J. �A��" ��$��K" �� ��8���� �=e 1U���
� 1!��U�
��  . ,�=K>�	
�A> 
 �B�v$8 ²�!" V���I ��8��Q0  1��Uc J. �!�A
��(xk 

,yk)1��UA
� 1"�> 1� �f ~�U��� G< 5� kk yP = .5�´�  L�$��K"
L��c�� y�UA
� 7� 1v�' ��*�+� ��8���� ���� -�I ~�� ��*�+� ����
� K,, 2312 PP ,�=> $�Kc�n��vX� V�3  F��� 

4+���
F�!��U�
� 7� _��> n�A� ��3 :  
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 ����BA
� ����A
� ;�N� 7Kf���`_�� :  

( ) ( )
( ) ( ) ( ) ( ) ( )( ) ( )

mii

miiiimiiimi

miii
xx

PxxPxx
P

+

+++−+++
++ −

−+−
= KK

K

2111

1  

  

 ,�=K>���I��p  ;��c �U����3 S��" ��$��K" n�A!� e�L�8+�3 ,q� �<�� +�" V$+�� , �����Q�
�
I.  

L����3�!��  �U��� 9d 58���� _v$��� 4��K�*%� S ���A3$��y�UA
� 7� 9!` 8�
� ��8����  ? V8�3 ;�
��c 	
=
� 
 °E��$ ;��K"L��8��Q L��v$�< L%��K�*� �
���
� �v$�
� 7� ;��U��U�
�  V9<D� ����� F�!�� �U��� -!Ww��A:�.  

 ;��K�
� T�p ?�58�

� F��AU" ;�
��" &
� 	�" ;N� ���A" ,;��K�
� ;\�I  ����" F����3
� $��K�4+��� }Q ��3 
�h�
� 7� 1
� $��
�. $��K�
� F����3 1� T��
� S!�� ���A3 $��K�
� _B�A�� �!h�
�:� n�v 7� �g\� w¡�
�U!�� L� 7� 

�U���
� ����A
� .L��+�3� �+K� 1� n�Z� �=> 3−
10� 6−

10 ,�+K"� V9<D� ���U
� F�$�h 7� �!��h �Z�
:� F��Q� 4�
� 
32���  . ~�h 4��
�*� �A3 $=�� _<+" _g!A��7� E`�L��Yc ��:� �=>  J. #��"$� ��c�K�. V$��� ��+�@� ~�U
� n��<� 

1>+�
�. L��+�3� ���U
� E�
" 4−
10LMQ L��*� [���� �3�*� �h�
� 1� .  

 J. ��D� ���^� �M���8�3 ;��K" F����3 ;��K" n��vX ��<���� _��Q F�����Q. ? ,��:� ���< ��3 8�
�D� _�M� 
� #��"$%� ���
� ��3 _v$��� ;��K�
� ��^� ,��c�+�*h ,LMN� . b��
� ���
� ��3 ;��K�
� ��^ ��`φJ. �!�A
��  

 ���hh ��U
� ��c ���
� ��3� ,r  H�
�� ���I��8��Q ~�U� )h ,φ.(  

�YQM:�� ���v� ,1
�� -c� L��+�3 ? ���* %� ,V8+/A:� �h�
� ��3 4+���
 $�N�c%� ;Uc �
��
 ��$��K" F����3 V�3 n��v. 
%���FL�
�"�� _��+e� ]�` �B�I �+K� &
� �+e� ]�` �"�c 9g" µ����� ���A3�  1� _�60 dB ��h 4+p ��3 �N`� �� 

��:� ���< .T�g��� �h� ;� ,H��h�
� F��/3 C��
�� [���� m6� F%��� ? F�3�* �+�U
� }Q ,q��a�*�� F��Q� 
L��v �
��* �Z�
�.  

��
� �g�� ��+�K� �U���
� �=> 7� ��¨�� �a�c ��+�8��
� F%��"%� ]�K� Fortran$ �U��p J. �A��"� ,�E� �a�c� °
 ��+�K��g�� Mathcad ���«� ��3 5+�A" ;��K" ��\k��.  

����� 8 :����	
� �
�� ����� ����  

]��0� _���$ $�N�c� J. �!�A
�� w��x%� )(Rayleigh �
8�
:� 4��
�*�� (39) ��*� ��3���' � $�N�c� ϕS �B��
0"  
 �
8�
:�(54).  

]��0� 73 ~v�A
� F�9�:� 4+p ��3 1>+�
� '�g
� ��*�+� �����%�F��+Z� �)  H��:�2 ��\+�
� 7� ITU-R P.676 (
 1>+�
� _���
� J. �!�A
��γo� γw ��I�K:� F�3��"$%�� ho� hwn�:� $�t� w�Z� n�+e� J. �!�A
�� , C�+�
� ��3 .8��0�� 
 F�$�!

� ��*�+� 1>+�
���
��
� H�
�� ���I 1>+��I 13��"$� 1� 9�:�  ��3D� ���U
� 8��� ,��!
� S�* �+��� T+

����� 5$+i 1� mp�U�
� -!W ��Uc #��"$�1������
� 1����+B�
 1 .E�
"�L��Yc ��!��U" ����3 �U���
� �=>  1>+�
� �� J. 
'�g
� ��*�+� _�
�
�F�$�N�c%� ~�Q ? $�N�c� ��A3 ;` J. �!�A
�� 9g��  .L��Yc 7K
�1>+�
� �� J. '�g
� ��*�+� F� ;Nf 

7� LM��u L�!��c V8�3 4�*$X� V$��< ��
�oX�LM��h %. 9g�� % -c��  m� �c$�U:�� [��"$%� 5=
� ��f ��<D� F���
:� ¤
� 
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 ;N���:� 4+�> F%�
� �3��"$�F� ,�¬�� ��:� ���< �*�A> �� ��:�  �=> ��IG��!�
�E�
� L�$E�  . �U���
� S��"�
� ��
��
1>+�
� F����U��'�g
�� F� J. �!�A
�� �
+!U� �h�� C�oX� n��vX�.  

®8D� F�3��"$%� ��
0"� ���@� ~�U
� ��*�+� ��i ;` J. �!�A
�� h2_loc =h1_loc ��3D� #��"$%� ;Nf� hp -!W ��Uc #��"$� 
 ,mp�U�
�V�3��� m� ~�� &
� ���@� ���U
� 5� ,�$D� n�Ax� 7� �B��3 4+���:  

  

(110)  ceffeffp hrrdhh +−++= 22
10               km  

  

����' J. �!�A
��� 1� µ����" &
� #��"$%� °5� °90 13��"$� 1� 1>+�
� 8���� ,#+�¨ 1� T��
� ��*� ��3 1>+�
� 
 ;��:� 9�:� ��3?#��"$� ;` .  

  

(111)  
loci

p

o

loci
oooo

io

h

h

h

h
hh

A

_

0

_

_
sin

expexp

ε



















−−








−γ−γ

=                 dB  

(112)  
loci

w

p

w

loci
owow

iw

h

h

h

h
hh

A

_

_

_

sin

expexp

ε



















−−








−γ−γ

=                  dB  

  

 P�Q9/� ;�
�
� i� 1��@� 7� ;` ��3 loci_ε_��+> ;K
 _�@� #��"$%� ����' .  

  

�+K"� n�:� $�t �I�N` ρ 1>+�
� ;��
� �����
 ���
��:� γw  _>�+�@� ��!
� S�* �+��� �A3 ��u���I%� ���U
� 7� �

����U�A3  F��@� J. �!�A
�� �$D� �+��� )�+K" �� ����c �� 7Kf� ���U
� �=> �¬�� _>(:  

(113)  









ρ=ρ

2
exp

_ loci
g

h
             g/m

3
  

� 1� µ����" #��"$� ������ H�
�� ���I°0� °5 _g!A� ,=<l" ��$��Kc%� $��� $�!�3%� ?  .8��0"��!�A
�� #��"$%� ����'  J. 
7� ��3D� 9�:�:  

(114)  













ε

+
+

=ε′ loci
effp

eff
i

rh

rh

_
1

cosarccos  

C��
� +�A
� ��3 9�:� V$��< $�U" �=K>�. 
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w�Z� n�+e� 73 �"�A
� 1>+�
� J. �!�A
��:  

(115)  





























ε′









−













 +
ε′⋅+

−

ε









−













 +
ε⋅+

γ=

i

o

p

o

effp
ieffp

loci

o

loci

o

effloci
ieffloci

ooio

h

h

h

rh
Frh

h

h

h

rh
Frh

hA

cos

exptan

cos

exptan

_

__

_

_

          dB  

  

�n�:� $�t 73 �"�A
� 1>+�
� J. �!�A
��:  

(116)  





























ε′









−













 +
ε′⋅+

−

ε









−













 +
ε⋅+

γ=

i

w

p

w

effp
ieffp

loci

w

loci

w

effloci
ieffloci

wwiw

h

h

h

rh
Frh

h

h

h

rh
Frh

hA

cos

exptan

cos

exptan

_

__

_

_

         dB  

 �
��
� w�
" P�QF��*�+� :  

  

( )
51.5339.0661.0

1

2 ++
=

xx

xF (117) 

  

7� $�h 5� 	
=` �3���� [��U�*%� ��n�+� q�3 M E�
� �h L���M�.  

  

����� 9 :���	
� �	��� �
������ ������� ����  

�:� #��"$�� ��:� 4+�> 4�
� ~�h 7� ��' ;` J. �!�A
�� 4�*$X� V$��< ~�h ]��0"7� F�+�a�
 L�UI� ,� 5 J. 8 ,
4��
�*����
��
� V$�!

� :  

  

(118)  ( ) MASCCZfL gabR −+++−−−= log10log10log10log20208              dB  

  

 m�o ~��U" �
��F���
+�
� �AK�:� 4�
: 4+�>  ��:� ��:� #��"$��$¡��" ���A
� 4�*$X� V$��< ~�h (dB) 8�3 [�h� J. 
 ;��` S��\(dB)  ��3�) �
�8 4��
�*�������LMN�  (� m��0"F%���Q%�F���
+�
� �I�` ) ��+�� �!�c ;KW ? ( &
�

 ��c J. 58l" V$����� ��+* ;K
 C�oX� 4���Q%� [��� 	
��7 F��+* 4�*$X� ����< . �4+�0" �I�N` �
�8 
 4�*$X� V$��� _�`��" m�'+" J. ���A
� 4���Q%�����U:� mo 4M< 7� ��+�:� ]�A
� :�~�U� �U�
�V������ 1>+" .  
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 �������1  

 �	
�
�1  

�
��� ��� � ������ ����� ������ ��������� ����� �
���� !
�"#�  

1  ��$%�  

� 9g�
� ���� ;v� 7� ��+�8��
� ��+Z� 8�\$D� F���
� J. ?��
� +Z� ? l!A�
� n��v. �A��~Kjmh+:�  . �=> q�U"�
�< ;KW ��3 F���
:� G��? V8$��;��=�
� �=> .  

2  &������� �
'()*� !
�"#+ ,-.��� /0��� 12��3  

 V����:� ;<���
� F��
� J. �!�A
��� ,q�

� n��vX� ? ,?��
� +Z� ? 9���
 ��+Z� 8�\$D� F���
� {���< �+K"
);vD� ���+p ( _> ��+A�
� ��*+�:� ���U
�∆N) �3 $��Kc%� ;�
8 F���" 4�
�+Z� 7� 4�D� ���+��K
� � ( J. �!�A
���

 ��/
� ;<���
� F��
�);vD� 9�h ( _> bh+
� 7� ��+�:� �!�A
�%β0 ¤�aA:� +Z� ? $��Kc%� ;�
8 �$�" �B�I �+K� &
� 
7� ;h� (−100 N-units/km).?��
� +Z� ? $�/�c%� F��
� ��+� n�A!
 �
+U
� V�3�h �����
:� ��"�> ;K/"�  ? �I+\+:� 
 V�U�
�2 H��:� 7� 1 . F���
� ;��=�
� �=> ? �I+�"�F���K
� �=> ¤
!
 ;v� 7�  [��Q F�l!A"� ��+A�
� F�l!A�
�

�+*D� �B/
�:  

¶  1!� ;K/
� 11 F���
� ∆Nª5+A�
� G*+���
   

¶  1!� ;K/
� 12 �!Q��:� ��`D� "5�BW G*+�� ��hD" 7� ∆Nª  
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�� ���12  

 ��	� 
��� 
���� ����∆N ) ������ ��� �����������!� (  

  

  
  

3   45��� 6"- ���
'()� �"��3N0  

 ;K/
� ;Nf13 ,��!
� �+��� �A3 S���
 ��$��Kc%� G*+�� ����< N0 ,? �B���a�*%59�*+����
� $�N�c%� ��+� .  

4  7� ��8�9 12�����:�-
; !
�"#� $<��= �(>   

 7� 7�����[+*��� ��3 F�n��vX� =��A" ;v�_�h$ ;KW ? G����� �=> ;��" �� ���  F���
� �3�+h J. 4¥+� 
F��¨E
� ��*�+� �B�
. ���A
� 7Kf �����.  

µ��U�� J. ��`D� 4¥+� �� ��:�

� $��Kc%� ;�
8 G���< J. �!�A
�� ����\�A� ��� 7� 8�
�D� °0,5 × °0,5 ��

� G< ? 
4+�
� G<� .�!A�L� #��Uc� 5Dg" �A3 l!A�
� ? �I��:� �� mh+:� ? V9g\ F�91
��  7� ���< ;K
 ~�U
� {�a��" �� 

��`D� 1� _�<��
� 4��K�*%� ��*�+� ����
�.  

����� 	
)��
�����( 
0452-12 
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������� 2  
 �	
�
�1  

+� ��
?/'�
� @)
�� �AB  

1  ��$%�  

��!
� �+��� T+I 9�:� 4+p ��3 ��u$D� ��$�6�
� F�3��"$% zc�v �BY� 9I+" 9���
 zc�Z� �BY:� ;��� ]���� .
 4��Z� q�U��9$�/�c%� ���� w��>� ;v� 7� 9���
 zc�Z� �BY:� ;��� 7� �Bh�U�W� ]v�+
� F���
:� .  

2  C-�@)
�� �AB+� /'�
�   

 ;<����
 �!!�:� �����
 ��I��gZ� F�����QX� J. L�8�A�*�ψt) ,(ϕt
 

 ;<����
 �u�
:� ��@��ψr) ,(ϕr H�/" �� ]� ,
 ��$�6�
� F�3��"$� ��u$D�)��!
� �+��� G*+�� T+I (��I��d+�+p F���
� V�3�h 7� ��Y

� V����
� 9�� 4+p ��3 �� 

��A
� �
*�� �!*�A� G���< 7���`�
 T . L�8�3 _�
" &
� _> �I��:� ? �c�!�*� ;6I� �� E�
��F�+��� 7� L����\��
l:�  
 7�km 0,25L�!��U"  .;�" �I����
 ��<� F�8��' 4��
�*� 7Kf� J. km 1 ��c�K�. m� �Q ��h� ? %� ¤
� ���· ? �h8

l!A�
� .h+� �A3 �$D� #��"$� ;�/� �� zc�Z� �BY��
 _g!A�� ��@�� ;<����
 �!!�:� ��@� _
 �R$�!�3�� ;<����
 �u�
:�
4+\+
�� V$8�g:� &�Uc .F�3��"$%� J. w�6�� 9�:� 4+p ��3  n�Ax� ���h J. L�8�A�*� �$D�ae �
8�
:� ? (6).  

S

N

W E
0452-13  ����� 	
)��
�����( 
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�
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(
  

�����13 

 "�#��� $���� % &'�� �*+��,-�N0 
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� �=> 4��
�*� 7K�:� 7�I ,�3�!�
� ��Y�A� zc�v �BY� y�Uc 4��
�*� ;6�:� 7� -c� ~d$� zc�v �BY� y�Uc m� �U���
 F�3��"$�� �B��`� G!"�" ���h$ ����< 7� zc�Z� �BY:� {�a��� ���A3 L����� 	
� �+K� �h� �3�!�
� ��Y�A� 9d

��u$D� ��$�6�
� . ��Y�A� zc�v �BY� y�Uc ;�
��" F�$�!�<� J. L�8�A�*� F�3� �h ��\+�
� �� J. V$�WX� _g!A� -c� %.
%� �3�!�
��h�
� ��3 �3�!�
� ��Y�A� y�UA
� 9�k" 73 F��+�
� 5� �I+�" .  

� ��UA
� E�
" ��A�� ,��\ ��UA
� ;<����
 �!!�:� �����
 ����U:� 9���
 zc�Z� �BY:� ��Uc ,��\+�
� �=> ���dD ,E�
"
 ;<����
 �u�
:� �����
 ����U:�
� ��UAn .7� 9���
 zc�Z� �BY:� ;K/�� �=|� n + 1��Uc  . ;K/
� _�
��14 L%�N� 

 9���
 zc�Z� �BY��
E3 �U�
�:� ����a:� F���
:� L�A�!� ��!
� �+��� G*+�� T+I ��u$D� ��$�6�
� F�3��"$� 
��A
:� ��u$D� ��$�6�
��.  

 ;K/
�14  

 .�� /-�0� ��123� 4�5�)67!� 89(  

  
��Z� w�
� 499���
 zc�Z� �BY:� ;��� n�A�� �U�/:� �� ���
��:� F���
:� .  

 

����  
�����	 
���
��	 ������ i  

����� ���
� ��	���(R) 

 ��	���� ����� ���(T)  
����	 ����� !"���

  �� ����1 # �$�% &�'� θt����" �$�% ���"�� () �$* .  
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 �����9  

.�23� /-�0� ��1�� :�23;� <*�;=  

������ ��	
� 

ae �� ��� ��� 	
��
� ��(km) 

d  ����
� �����
� ��� ��
��(km) 

di  ����
� �� ����
� !" ����
� �����
� �#$ ��
�%�i&�
'(
� )  *+��(#
 ����%� ��,�- �./��� 0(km) 

dii ��
�%� �.1��(
� 2�(�%� ���#
 3�
4� �5�%� 6
.��� ) �#��(�%� (km) 

f  77�(
�(GHz) 

λ  �18%� 	89(m) 

hts  *+��(#
 ����%� ��,� :��8; <
����(m) �=�
� >8(�� ?@8(� A8� (amsl) 

hrs �/��%� ��,� :��8; <
���� *+��(#
 (m) �=�
� >8(�� ?@8(� A8� 

θt �� <
���� �&-�B :#,� C��� ?+ A8� C�(mrad) ��.��*+��(#
 ����%� ��,� :��8; ��  

θr �� <
���� �&-�B :#,� C��� ?+ A8� C�(mrad) ��.��*+��(#
 �/��%� ��,� :��8; ��  

θ  ���#
 �&-�D
� ��
�%�(mrad) 

hst  <
����"���(�%� ���� " �=�
� >8(�� ?@8(� A8� *+��(#
 ����%� ��,� F�8� ��$(m) 

hsr  <
����"���(�%� ���� " �=�
� >8(�� ?@8(� A8� *+��(#
 �/��%� ��,� F�8� ��$(m) 

hi  ����
� �� ����
� <
����i �./��� 0&�
'(
� )  �=�
� >8(�� ?@8(� A8�(m)  

h0 :��,� <
���� *+��(#
 ����%�   
h
n

 :*+��(#
 �/��%� ��,� <
����  

hm �� 0&�
'(
� ��8$- �./�(m) 

hte  *+��(#
 H��%� :��85#
 	
��
� <
���I�(m) 

hre  *+��(#
 ���%� :��85#
 	
��
� <
���I�(m) 

3  ���� ���  

 ������� ��	
 ��
� ��� ������ (km) d���� ���
� ������ �� ��!"# $:  

                km∑
=

=
n

i

ii ddd

1

1– )–(    (119) 

 ��!"# $���� ���
� ������ % &'�() *+�(�#� ,-. /0 �1 2��3
�"� 4��(�#�56��#� �73#� :  
(120)  iidnd ⋅=                km  

 8�9dii ;.  % ��<+4�#� *=�>?#� ��
� �@���(km).  

4  �	����� 
��
  

B#C 4�
 DE ��F�#� G49H % ��
� I�3	�# ��!"# $���� ���
� J!���> /0  ���43K� ��L I	� 5"� ��3(
� M�N#�
 ����#� O+P�ae . �Q4�� % R(
� �73#� 5"� JS�4�#� ����� I3	)Q4.  
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1.4   ������� �	
�1 :�
�� �� ��� ������  

/��> T@P� U� ��
�  JS�4�"# D(�
� ;V��K� �� ��V�� W=�
� T@P� X��)+� �>Q�Y Z��[ �CH);"]� T@P� &S ^H �(�3#�
 (
 JS�4�"# O��
� ;V��K� �� ��V�
� �>Q�?#� �� U[0)JS�4�#� D(�
 ;"]� T@P� &S ^H �(�3#�
 �̀a>0.(  

��#� �73#� 5"� T@P� U� ��
� bQ�c
 ��d� +�(�Se� /��>Q6:  
  θmax > θtd                mrad (121) 

8�9:  

  mrad )(max
1

1
i

–n

i
max

θ=θ
=

                 (122)  

  θi:   �()�#� �� ��f3#� ^H �(�3#�
 X��)+e� �>Q�Yi��g+P� h>+�a�#� %   

  mrad
2

10
3

e

i

i

tsi
i

a

d

d

hh
−

−
=θ (123)  

8�9:  
  hi:   �()�#� �� ��f3#� X��)+�i+P� h>+�a�#� %  ��g(m) �7(#� G���� &���� i�@ 

 hts:   JS�4�"# D(�
� ;V��K� X��)+�(m) �7(#� G���� &���� i�@ 

 di:   �()�#� �� ��f3#�Q JS�4�"# �((�
� ��]� R
 �@��
�i ��g+P� h>+�a�#� % (km) 

  mrad
2

10
3

e

tsrs
td

a

d

d

hh
−

−
=θ (124)  

8�9:  
  hrs:   JS�4�"# O��
� ;V��K� X��)+�(m) �@�7(#� G���� &���� i 

 d:   5!��#� *�V�4#� ��
 ��"�#� �@��
�(km) 

 ae:   ��!"# D��3
� ����#� O+P� ��L I	� &����) �#=��
�((6).  
 �#=��
� b�j Tfk �CH(121) T@P� U� ����!"# l�"�
� ��!"# $���� ���
� J�"k ��
��� ��� m) *�f�#� ����(1.5 . eQ

 �<�9%.  *���"# bQ�c#� ,-2����
� I�3	) �� .  
 �#=��
� b�j Tf7�> n �CH ��0(121) Q0 ^QP� J3>�@ �f�3
 ��g+P� h>+�a�#� ��S=H o� �	(#� &S % ��
� /���@ m

�K�S=H /Q4
.  

2.4   �	
��2 : ���
 ��� ��� ������ !� ����� "� # ��� ������) $%
�� &��' (��
* +,-. /0  
�
1,�� &�2(  

 e T@P� U� ��
� /��> /��> ��43� ;��@ ��� 5"� p����� o� �	(#� &S % �̀���/��) ��43�Q i�@ X��)+e� �>Q�Y 
 JS�4�"# D(�
� ;V��K� �� ��V�
� W=�
� T@P�);"]� T@P� &S ^H �(�3#�
(m 2'�q� ��L I	3# rQ��� s��@H *����� o� 

�f�3
 ;t"�".u� JS�4�"# O��
� ;V��K� �� ��V�
� �>Q�?#� �� U[0 mT@P� ��f� 43� ^QP� J3>�@ ) &S ^H �(�3#�
 �̀a>0
JS�4�#� D(�
 ;"]� T@P�.(  

��#��#� �#�v� % ;���#� ��
� 5"� p����e� M4wQ:  
    θ θf td

max

> mrad  (125) 

8�9:  

    ( )θ θf
i

n

fmax i
max=

=

−

1

1

mrad  (126) 
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��>Q �#=��
� % ��@�gH *+�(� +�(�Se� �-. ��!���� D"(123)^QP� J3>�@ �f�3
 ;t"�".u� 2�q� +�(��e� % -Sx)  .
 *�f�#� ;��)Q2 ��y��#� �� ITU-R P.526 m;t"�".u� 2�q� �-. ��L I	� m(m) Ri��
� ��� 5"� ��f� �>0 43� m:  

                m
fd

ddd
R ii
i ⋅

−
=

)(
392.17    (127)  

 8�9f ==��#� �. (GHz).  
 mD��3
� ��f#� I	� z�a>Q(m) Ri m��g+P� h>+�a�"# X��)+� J[ ^H m(m) hi �#=��
� % m(123) {#� W=|) �#=��
� ^H 

(128) . m^QP� J3>�@ �f�3� s��@H +�(��e� % -S0 �CHQθfi mD�k z���
� ;V��. X��)+� �>Q�Y (rad) ^H �(�3#�
  ��f3#�
 �()�#� ��i��#��#� �#=��
� �� :  

    ( )
θ f

i i ts

i

i

e
i

h R h

d

d

a
=

− −
−
10

2

3

mrad  (128) 

 �#=��
� b�j Tfk �CHQ(125);��@ ��� 5"� p����e� �e�v l�"�
� ��!"# $���� ���
� J�"k ��
��� ��� .  
 �#=��
� b�j Tf7�> n �CH ��0(125)4>?!"# �<�9 eQ �	(#� &S % ��
� /���@ ��!"# $���� ���
� J�"k �� .  

5  ����� ���	
 ��
�
 �� ������
 �����
  

1.5  ���� �� ���	
�  

 �Q4�� O��>9��!"# $���� ���
� �� ��L�f�j� D<��#� ��!"�
� .  

1.1.5   �	
����� �

��� ���� ����� ���� ������ �����θt  

 ��]� ;V��K T@P� X��)+� �>Q�YJS�4�"# �((�
�;.  �>Q�Y 5	L0 e �#=��
� T(�) ��43� ;V��K� T@0 X��)+(122) 5"� 
 ��g+P� h>+�a�"# $���� ���
� �����)+�n − 1.  

    θt  =  θmax               mrad  (129)  
/��)Q θmax �#=��
� % *=4} ;. �![ (122).  

2.1.5   �	
����� !
��� ������ ��" ����#dlt  

 T@P� �@��� ;. J��
� �� �@��� ~=0D�k 8�9 �>Q�Y 5	L0 e �#=��!"# �̀f@Q ;V��K� T@0 X��)+(122).  
    dlt  =  di               km               for  max (θi)  (130)  

3.1.5   �	
����� $%&�� ������ ��" ������ �����θr  

��(f��e� ;V��. T@0 X��)+� �>Q�Y. ;  �>Q�Y 5	L0e �#=��
� T(�) ��43� ;V��K� T@0 X��)+(122) ���
� �����)+� 5"� 
 ��g+P� h>+�a�"# $����n − 1.  

    θ θr
j

n

jmax=
=

−

1

1

( ) mrad  (131) 

    θ j

j rs

j

j

e

h h

d d

d d

a
=

−
−

−
−10

2

3 ( )
mrad  (132) 
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4.1.5   �	
����� $%&�� ������ ��" ����#dlr  

 T@P� �@��� ;. J(f��
� �� �@��� ~=09D�k 8� �>Q�Y 5	L0 e �#=��!"# �̀f@Q ;V��K� T@0 X��)+(122).  
    dlr  =  d  –  dj               km               for  max (θj )  (133) 

5.1.5   ��'��(�� ������(mrad) θ  

    θ θ θ= + +
10

3
d

a
e

t r
mrad  (134)  

6.1.5   )*�+"�-.�/�� $���"���&��� ������ 0�1������   

1.6.1.5  �#�1 0���
�1�  

��=+0 �CH m��
� *+���# D��3� �>4f�
 s�!�#�Q �#���#� ;V��K� �����)+� 4>4k  �� 4
 e ����#� ���#� �"���> /0
"�!��3
� O+�#" O���> ;�<�� r���![ /��) /0��
� �� �!��3
� �1 O+P� �L�@  . ��	v� *��d� ,-. 4�
 ���Q

��Q �!"�� 2�L 5"� ��g+P� h>+�a�#� *+) *�f�#� ����(4.6.1.5 ����#� ;V��K� X��)+�Q � �� J�# JS�4�"# �((�
� ��]
JS�4�"# �g��
� ��]�Q.  

2.6.1.5  0�2�/3�45�  

 ��� l��9 �� ;"��#� m�<�7"# �̀f@Q m���"�!��3
� O+P�" ����
� % "�>�7(#�" W0 m*�j�(
� /��) ��43� :
ω ≥ 0,9!3�9 m�7(#� ��� 5"� R�V��K� �f@0 of> � .,+�(���
 �#�v� ,-. % ;�<�
� W���
� -S|> /0 ���Q&����  

 �7(#� G����)��
� Q0 ( 5"� J��[Q m��
� ���>O���/0 ��g+P� h>+�a�#� *+��Q ;.  m 0���)+�Q � ���V��K� �
�7(#� ��� i�@ ��f�fv� �����)+�# �>Q��� �#���#�.  

/0 DEQ *�f�#� % J	�
� �!��3
� O+P� D>�f) ���<H G�SP� ����
� J[ 5"� T(�> 1.5 2�L �"���) /0Q m
 *�f�#� % J	�
� �73#� 5"� ��g+P� h>+�a�#� *+��QQ �#���#� ���V��K� �����)+�4.6.1.5.  

3.6.1.5  �-.�/�� $��� 6�4 7�8�9�  

 ��g+P� h>+�a�#� X��)+e ;�S D>�f) T�c>�@�7(#� G���� &���� i6��#� J�c#� 5"� :  
    hsi  =  hst  +  m  ·  di               m  (135) 

8�9:  
  hsi:   X��)+e��7(#� G���� &���� i�@ (m) �@��� 43� ���
�
� �� =4� JLx
 b�(a
� ���"# (km) di �� 

JS�4�#� +4	� 

 hst:   X��)+e��7(#� G���� &���� i�@ (m)P� ���#  �((�
� ��]� 43� W0 ��
� Jy0 ��f� 43� �!��3
� O+
JS�4�"#  

  m:   ���#� J��(m/km)� �� =4� JLx
 b�(a
� �7(#� G���� ^H �(�3#�
 ���
�
.  
� R��#��#� R)��d�
 T"��> �!�@ �">4
 TV��� ��3.Q�l��v�  . R�#=��
� ��!���� ���Q(136a)Q (137a) 4��() /�[ �CH 

 b�f��̀!��3� $���� ���
� . R�#=��
� ��!���� R��>Q(136b)Q (137b) $���� ���
� b�f� ��) n �CH m�̀4�f�) �N[0 ��Q m
R�#�v� �� W0 % �!K�!���� ���Q m4��(�#� �!��3�.  
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4��(�#� �!��3� $���� ���
� b�f� ^H �(�3#�
:  

    m

h h d
d

d
d

i a i

i

n

i

i

n
=

− −







−







=

=

∑

∑

( )
2

2

0

2

0

m / km  (136a) 

(�3#�
Q�S� $��< ���� W0 ^H �:  

(136b)

 
∑
=

−−−−− −−+−+−+−






=
n

i

iiiiaiiiiii hhddhhhddddd

d

m

1

1
2

11113
)()()2()()(3

1
  m/km 

8�9:  
    hi:   �()�#� �� ��f3"# ;f�fv� X��)+e�i ��g+P� h>+�a�#� %  (m)�7(#� G���� &���� i�@ 

  ha:   ��f�fv� ����
� �����)+� &�����7(#� G���� &���� i�@  ��h0 ^H hn �"��j (m):  

�
� b�f� ^H �(�3#�
Q2��3
� 4��(�#� ��C $���� ��:  

  ∑
=+

=
n

i

ia h
n

h

0

m
1

1
 (137a) 

��< ���� W0 ^H �(�3#�
Q�7�<�� ������ �!�L D�k m�S� $:  

                  m∑
=

−+






=
n

i

iiiia hhdd
d

h

1

11– )()–(
2

1
 (137b) 

5��>Q ��]� 43� �!��3
� O+P� ��� X��)+� �((�
� JS�4�"# hst:  
                  m 

2
–

d
mhh

ast
= (138) 

 JS�4�"# �g��
� ��]� 43� �!��3
� O+P� ��� X��)+� ��#��#� *+�(�#� ;��) m� ��Qhsr:
  

  hsr = hst + m ⋅ d                m (139) 

W0 mO+P� 5"� ;f�fv� X��)+e� i�@ �!��3
� O+P� �����)+� Z�LQ �CH ��7	) ���<H m�.43� mDEQ:  
  hst = min (hst, h0)                m (140a) 

  hsr = min (hsr, hn)                m (140b) 

 R���)+e� 490 ��7	) � �CHQhst Q0 hsr R�#=��
� �����
 �!��"[ Q0 (140a) Q0 (140b) �̀a>0 �7	> /0 �.43� Dt�@ m
 �!��3
� O+P� ��� J��m:  

(141)  
d

hh
m

stsr
–=                 m/km  

4.6.1.5   ������� �	�
��
� �����hm  

 ��g+P� h>+�a�#� *+��Q �!"��hm (m)  ;. R
 ��
� 2�L % �!��3
� O+P� ��� i�@ ��g+P� h>+�a�"# X��)+� 5	L0
T@P� {�f� m�!���"[ �"��j:  

                  m[ ])(–max
isti

i

ii
m

dmhhh
lr

lt

⋅+=
=

 (142)  
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8�9:  
  ilt:  = �@��� 43� $���� ���
� ��f� J�#dltJ��
� ��   
 ilr:   �@��� 43� $���� ���
� ��f� J�#=dlrJ(f��
� �� .  

 J�c#� JN�Q15 ��g+P� h>+�a�#� *+��Q �!"��Q �!��3
� O+P� ��� hm.  
  

 �����15  

������ �	�
��
� ����� ������ ������� ���� ���
 �
��  

  

 �������3  
 �	
�
�1  

� ��
�� ������ ����
��� ������ ������� �����
� ���x ≤ 0,5  

D>�f�#� /��> �!�f"# �̀7�7y ;���#� ;![���#� W=��#� o>Y��#� �#�4# 6��#� 0,000001 ≤ x ≤ 0,5 +�4f� 5	L0 /��>Q 
 x��"#0,00054 . ���Qi���#��e� �#�= l��v ���4���� %  �#=��
� % =+Q �![ ;"S�4#� ��!��(13a) .Q Z��[ �CH

x < 0,000001 ��> �� /0 β0 < 0,0001%  -V43� DE&(g x/���# 0,000001  . �#�4#� �"���)QI(x)6��#�[ :  
  I(x)  =  ξ(x)  –  T(x) (143) 

 

������� �	
� ��

 ������� ����� ���

(T)  
����� ��
 ����� �
���

����� ��� 

 �������(R)  

��
�  

��
�  

�
���

��� 
��
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8�9:  
  [ ]T x x( )  2 ln( )= – (143a) 

  

( )[ ]
( )[ ]ξ( )

( ) ( )

( ) ( ) ( )
x

C T x C T x C

D T x D T x D T x
=

2 1 0

3 2 1 1

⋅ + ⋅ +

⋅ + + +
 (143b) 

  C0  =  2,515516698 (143c) 

  C1  =  0,802853 (143d) 

  C2  =  0,010328 (143e) 

  D1  =  1,432788 (143f) 

  D2  =  0,189269 (143g) 

  D3  =  0,001308 (143h) 

  
��������  

  


